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Teacher’s Introduction

First and foremaost, this resource is intended to test students’ knowledge rather than to provide exact exam-style
questions. Consequently, not all guestions will mirror the exact words and phrases used in actual question papers
for the AQA GCSE {9-1) Business {8132] specification.

This two-set resource of multiple-choice test guestions with answers has been written specifically for the
AQA GCSE (9-1) Business specification; however, it can also be used as a companion to Factsheets and Activities
Jor GCSE {91} AQA Business, which is also published by ZigZag Education.

Each set in this resource covers the six functional areas of business in the AQA GCSE {3-1} Business specification.
Those areas are: Business in the real world, influences on business, Business gperations, Human resources,
Marketing, and Finance.

The resource has two sets of multiple-choice guestions with answers: Set A and Set B, Each set contains 405
guestions testing topics covered in both the specification and the aforementioned ‘Factsheets and Activities’, The
resource is written in such a way as to take into account the fact that different students have different levels of ability.

Suggested use of 5t A and Set B tests

CQuestions in Set A either correspond to or mirror those in Set B. The format for both sets is the same. The specific

topic tested in Set A is retested in Set B using different wording, different emphasis or a reverse scenario. This makes

the pack a very flexible resource capable of multiple uses in the teaching and learning environment. For example:

#  After covering a topic in class, say in specification number 3.1.1, the teacher could first go through Set A3.1.1
guestions and answers with the students in the classrocom environment using a question and answer session.
At a later time, Set B 3.1.1 questions could be used as a formal class test to check how much the students
have learned and to identify areas of concern and areas that were well understood. (Set B could be used first,
then Set A)

e Alternatively, Set A 3.1.1 questions could first be given as a formal class test. Then, shortly afterwards, the
teachar could go through Set B 3.1.1 guestions and answers with the students in the classroom environment
using a guestion and answer session. This would highlight areas of concern and areas that were well
understood resuiting from the test outcome. {Set B could be used first, then Set A}

#  Students could be given Set A 3.1.1 guestions for homework, then, shortly afterwards, be given 5et B 3.1.1 as
a formal class test. The result could then be compared with the homework one, identifying areas of
knowledge strength and knowledge weakness. {Set B could be used first, then Set A}

e  Set A3.1.1 questions and Set B 3.1.1 questions could both be used as homewaork, for formal class tests and
for guestion and answer discussions at different times.

December 2021
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3.1.1 = The purpose and nature of businesses

1. ‘Which of the following is considered a prime
purpose of a for-profit business?
L A Tobreak even
L B To provide employment
L € To collect VAT for revenue and customs
L B To make o profit

2. Which of the foliowing is the main distinguishing
factor between o ‘for-profit’ business ond o
for-profit’ business?

3 A Reosons for operatin
I B8 The copital stry
O

3. Which one of the following business activities is
classed as o service provider?
3 A A London black taxi manufacturer
L B A fumniture maker
LB € Abank
L B A boat builder

4.  Which one of the following best indicates the
distinction between o producer good and o
consumear good?

3 A Price

I B8 intended buyer

3 € Nature of the product
A B Size of the product

5. What is meant by the term ‘business services™?

L A Provision of intangible economic aciivities
to both general consumers and businesses

L} B Provision of tangible economic activities
to both general consumers and businesses

3 € Provision of intangible economic activities
only to general consumers

d D Provision of tongible economic activities
only to businesses

6. Which of the following best describes consum

needs?
L A Unlimited resources ¢
essentiol
B ments not essential
stence and survival
X < e resources and environments
essential for one's existence and survival
3 B Al of the above accurately describe

consumer needs

7.

4 D Essenti

8. Which of the fo!

production?
4 A Land
B Labou
L € Copitg
L D Consy

9. What is the cos)
choice’ also knoy

4 A Fixed
W B Opport
W€ Austerity

L D Chose

10. Which of the foil
the primary secy:
W A Farming
4 B Fishing
L € Monuf
WD Mining o

11. Which sector of
merterials info my
W A Primary
U B Secondsg
€ Tertiary
L D Quate

12. Which sector ofé
tertiary sector?

A Primar
4 B Secon
€ Servic
L D Guate

13, ‘Hoving o busi
how, business

o reality.” Wh

N NE NN
5=
=
@

3
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4. Which TV show best demonstrates the concept 19. From a positive
of enterprise? someone sirive
L A Drogons Den or bored in thei
L B The Mortin lewis Money Show
3 € BBC World News
2 B The Chuss

15, Whe is the risk-taker who skilfully combines all
the factors of production to start o business? 20. ‘Business must o
Ll A The business manoger progressive in o
L} B The entreprensur constantly chan
L € The accouniant quotation best
L D The finoncier W A Businesg
W B Businese:
3 € Business
] D Business

16, What is the name of the entrepreneur w
started the Virgin Enterprise
4 A Deborgh Meads ;
21. There are many

L4 Richard Branson
W Beckham business. With ry
following is the
17. Which one of the following is not o typical L A Theyw
characteristic of on enirepreneur? o servi
L3 A Being self-confident d B Theyw
J B Being o hard worker d € Theyw
L € Being o risk-taker opport
L D Being risk-odverse L

D Alloft

18. Which ane of the following should not be an
objective of an entrepreneur?

J A To make money

B To daydream

€ To be their own boss

B To fulfil o dream

oo

COPYRIGHT
PROTECTED
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3.1.2 — Businesses ownership

1. Whot does o business's legal structure determine?

A How consumer rights issues are handied

B Ownership and control of the business

 The way in which dispuies between the
business and its suppliers are dealt with

B The way in which disputes betwesn the
business and its employess are dealt with

ooaoo

2. If @ business has unlimited Hability, what does

this imply?

[ A lts owners are liable for only some of its
debts

LI B Hs owners ore liable for ali of its deb

L} € The business has an unlimited :

stock
LI D The business h

ited liability” maan in

ownership?

St wners of the business are liable only
for the amount they have invested in it

3 B The owners of the business are liable for
all of the business’s debts

L € The owners of the business are limited in
the range of stock they con offer for sale

3 B The owners of the business are limited in
their ability to acquire finance

4.  Which statement about a sole trader enterprise

is unirye?

L A s owner usually has o limited capacity to
raise finonce

L B its owner is responsible for final decision-
making

3 € itis usually not o multinational
organisation

3 D s owner is protected by limited liability

5. In whot year wos the original Partnership Act
brought into law?

L A 2000
L3 B8 1907
LI € 18%0
LI D 1800

4. How many pariners must there be to form the
stafutory minimum quota for an ardinary
general partnership?
LA

e following is the main drowback of o

private limited company?

L} A It con only have g maximum of seven
shareholders

B It does not have perpetuat existence

C It cannot raise finance for capital
expansion

£ It cannot sell shares to the general public

I W

8.  Which sharehol

limited Hability
WMOA Alloft
L B Monewo
3 € Oniyth

[
&
O
=.
g

=

W C LtTDor
M D PLC or &

10. What three lett
after its name?
L3 A Oniyth
4 B Oniyth
MOC UTDor
M b PLCor

11. Private limited
legal structure
WA Micro-s

L A Soletr
Ll B Portner
L € Private

A Accord
shares
4 B Equally
shareh
L € Accord

LI B Private
W € Charity
- P Scddal

15, What legol for
organisation to
‘ A Soleir
B Pariner
€ limited
B Anyof

(RN N
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3.1.3 = $etting business gims and objectives

1. What are the long-term aspirational goals o
business plans to achieve in, say, five years’ time
and beyond?

L A Business aims

2 B Business objectives

3 € Business philosophy

L D Business wants and needs

2. What are the shori-to-medium-term specified
measurable targets, or stepping stones, for a
business period of between one and five years?
3 A Business aims
3 B Business objectives
LI € Definitely attainable asparcﬁions
[ € Definitely unattainabie o

3. SMARTis ¢ busmess

business chise the letter S in this

acron
A

L B i

b ¢ Smndurd

3 D Safe

4. Why do business objectives differ between

businesses?

4 A Businesses differ in size and complexity

L B Businesses face different lavels of
competition

J € The philosophy of business differs from
business to business

LI D For oll of the above reasons

5. Which one of the following would he classified as o

business aim?

X A Tobreak even

L B To quickly grow its market share
3 € To achieve markst domination
3 B To achieve negative cash flow

6. What would be the most Hikely business objective
for a new business start-up?
A Morket domination
3 B Survival
L € To achieve instont unrivalled prestige
L D instont recognition as ¢ social and
ethicul business

7. Why do businesses set aims and objectives?
4 A To encournge and moi:vaie ondy

business owners

To encourage an

curage and motivate all employees

8.  Why might objectives initially set by o business
change as the business evolves?
L A The notional business environment is
dynamic and abways evolving
B Government legislation relating to
businesses changes

od o
e}

D For oll of the above reasons

9. How might object

10.

ssociated with

To prepare for the consequences of Brexit

success? :
A By being
B By measy

o oo do

g 0
o
)
o
o}
=

12, Why might the
be?w&en busine

13. Which of the fo
prime objective :
thot of o nationa!
4 A Serving

commun
4 B Increasi

invested
LI € Salesm

4 D Moximi

14, What is the mo
not have the ob

A lis owne
- B Misad
L C hisas
4 D For poi

15. For which of the

W D Allof the
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3.1.4 — Stabeholders

i, Which term applies to any person, group or
organisation that hos finandial, social or
environmental interests in the activities of
o business?

A Solicitor

L B Steckhelder
L € Stoksholder
L Shareholder

2. Which of the following would be the maost likely
prime objective of a business owner?
3 A Moking o profit

Concern for the environment

Promotion of workers’ riek:

Keeping seiling

oo
S Ow

uld be the most likely
e St a team leader as o business

Having o highly motivated and
enthusiastic team of workers

LI B Keeping suppliers happy

€ Keeping selling price of the product low

D Hoving the business promote an
environmentally friendly agenda

4. An employee is olso o stakeholder in the business
for which they work. What would most likely be
their most important objective?

L A Reducing global warming
3 B Profit moximisation
€ Supplier security

LI B Maointaining job security

5. Which of the following groupings cannot be
classified as a stakehaolder in the business in which
they operate?

4 A Managers

& Employses

€ Trode unions

B None of the above — they ol are

stakeholders

Qoo

6. Which of the fo.

A Good i
businesg
a B ’
I

W D Goining
powers:

8.
local business?
W A Adhere

S,

10.

prime abjective;
stokeholder? &
A Job secy

B Seliing &
sarvice ¢
C Supplie:
governs
D Ensuring
creation:

e

What is the meos
community as
manufaciuring

- B To impré
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3.1.5 — Business location

i.

Within the last five years, which of the foliowing
has had the biggest and most profound impact on
the location of retail businesses?

L3 A Planning regulations

L3 B The cost of business rates

L < Ccovip-19

L D Developments in Internet provision

Which of the foliowing would most likely need 1o
locate as near as possible to its raw material source?
3 A Business software developer

L B Coal-fired power station

LI € Clothing manufacturer

L B Manufacturer of GPS equipment

What would be the most like
food business choosi
4 A Potent :

ite 1o locate?

sppliers

income level in the local
Grauphical area

3 B Locotion of its competitors

What factor would have the most likely influence

on the location of a scientific research ond

development think tank project?

4 A The cost of location

LI B Proximity to its market

d € The general level of education provided in
an areg

3 B The average wage level in the area

Which of the following stotements is frue with

regard to the increased use of social media

platforms and the consequent impact on fashion

and cosmetics indusiries?

3 A it has made them unpopular and
unprofitable

8 It hos caused them to stagnate

€ There has been no specific impact on
these industries

B It has reduced their need to be physically
located close 1o their customers

O g

What is the inevitable and unavoidable
consequence for a manufaciuring business that sets
up in an inappropriate location?

4 A increcsed costs

4 B Definite and absolute business foilure
L € Loss of reputation

3 B Increase in internal ec

esses would be
ated road, rail, sea and

g shop
[l B Patrol station
L € internel cofe
L B Beoauty salon

Why are business rates higher in o city’s centre
than they are in its outskirts?

A More services are provided for o business
B Less chance of competition for o business

€ Expeciation of higher footfall for o business
B Guaranteed higher footfall for o business

(MENE LN

i1

12.

13.

135,

Sometimes gove
businesses to se
ared. To encour
offered by the

A Within
d B The big
L4 € Onlyin
3 D Onlyin

cenire be least
choosing its set-
w A Transport

4 B Telecon
L € Rawma
4 D Proximi

give most consi
location for its s

L4 A Friendli
OB Internet
L4 € Skill lev
4 D Corpa

What is the mo
should consider
Y_v_hen deciding

L A They wi
4 B Theydo
d € Theyof
I D They ar
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3.1.6 ~ Business planning

1. What is the name of the written document setting
out the details of the proposed business before it
is started?

L3 A Business plon

3 B Siatement of financial affairs
W € Cosh flow forecast

D Marketing plon

2. Which of the following does a business plan
not containg
3 A Profit forecast
L B Project cash flow statement
L € An assurance of business succe
L B Copital sourcing plon
3. Which of the f its about o
i prropriate?
be'used 1o judge the performance
S usiness over time
3 B It's ahelp when applying for loans from
financial institutions
L € s costly and time-consuming for the
businass to draw up
D Al of the above statements are true

4. Which of the following is the most volid reason
for o business not drawing up o business plon?
3 A It's too time-consuming for a business
2 B When o business has to react very
quickly fo an unexpected event
3 € If's too costly for o business
3 D Al of the above reasens are
equaily valid

5. Which one of the following business costs will
increass in total with output or usage?

A Business rates

B Business insurances

€ Direct materials

B Indirect wages

(MENENE N

[ W= -

W B

c

D

10. Which of the

loss?

A
OB
I
b D

Which of the

fotal
fixed
total
fixed
total
fixed
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Page 8 of 87

COPYRIGHT
PROTECTED




3.1.7 -~ Expanding a business

1. Which one of the following is not an example of 8.  Which one of f

a method of orgonic business growth? external econc
L A Cutsourcing A They
3 B Mew produc development busin
[d € Business merger L B They
L4 B Fronchising gene
I € They
2. What is the name given fo o process whereby gene
one business sells ancther business the right to = D They

trade under its name? busin
L A OQuisourcing

L B Takeover

L € Conglomeration
L Fronchising

3. Inrelationtos Cidentify which of L C impr

the fo : itable answer 1o the telec
quest i¥ the advantage of selling o MWD A
framchis S
L} A The franchisor will retain control over 10. What might
how the franchisee runs the franchise mativation be
LI B Receiving royalty payments from the M A Ane
franchisor 4 B Ane
2 € The franchisee takes the risks b4 € Anin
L D Al of the above ore equally good L D Anin
options
11. If o pharmoe
4. A business may achieve organic growth by COVID-19 v
embracing m-commerce. Which of the following what is the ave
best explains what m-commerce is? oA g5
A Merchandising commerce B £50
3 B Mobile commerce € £500
L € Measurable commerce d D Mone o

L} B Mechanical commerce :
12. If the cost of ra
5. What is external business growth also known gs® process incres
LA Unsustainable business growth same, which o
L3 B Sustaincble business growth likely outcom

L € Inorganic business growth production?
LI B Orgonic business growth A B will
(B irwill
6. Which of the following is o method of external L€ olrwill
business growth? lower
4 A Business merger WD I will COPYRIGHT

3 B Business outsourcing
3 € Fronchising
LI D New product d

PROTECTED

Leerence between o business

o business merger?

ess takeover is a form of organic
business growth but a merger is not

L B Business merger is o form of orgonic
business growth but o takeover is not

4 € Business merger implies o degree of

L

hostility but o takeover implies consent
D Business takeover implies a degree of
hastility but o merger implies consent

Multiple-Choice Question Bank for GCSE {9-1} AQA Business Page 9 of 87




3.2.1 -~ Technology

1. What is the acronym ICT mest likely 1o mean in
today’s business environment?
L A internet and commerdial trading
3 B Information and commercial technology
€ information and communications
technology
LB international ond commerdal trade

2. eBay is a multinational e-commerce corporaticy
that facilitates business fransactions, byt
does the ‘e’ in eBay stand fort
LI A Echo

3. What can digital communication plaiforms net
totally guarantee their users?
4 A Reausonably good speed of dota
transmission
B PReasonably good level of data security
£ Rasponse interaction
B An ability to communicate with others
irrespective of geographical location

R MR N

4. Which one of the following refers 1o the many
digital and electronic technologies thot
communicate and interact with themselves,
people and other devices?

3 A Robotics

3 B World Wide Web
€ internet of things
L D internet network

5. In whot specific way is modern digital
communication chonging the way o business
cornmunicates with its stakeholders?

3 A By building up trust between them

LI B By providing absolute security of data
for them

L € By encouraging fransactions o take
place between them in real

3 D By focilitating increas :
communicatic .

10,

What is the nca:«é

online and reay
business presery

7

participants wh

WA Webi
MOB Wind
4 € Power
W D Telec

What is the
business envis

Ll A Thel
4 B Thel
3 € Thep
td D The d

Which one of f
business activi
and 24/7 busi

means? 5
W A SMART
W oBcr
W € Hr
WD OIMF

What impact
communicatio
business activit

W A Slow it
L B None:
M€ instantd

LD incre

(N NENE N
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3.2.2 = Ethical and environmental considerations

1. This is the implementation of business policies and 6. What is said t
actual proctices that requires o business 1o act in business ouico

ways that stakeholders consider to be fair and incompatible o
honest in all aspects of the business’s dealings made to achie
with others. What is this referring 10? L A Merge
(4 A Business competition 3 B Tokeo

4 B Business planning b € Trade
3 € Business ethics L D Amalg
Ld B Business trading
7. Which of the f
business havin
between ethic
considerations

2. Which of the following would be an example of
a business behaving in an ethical way?
3 A Adherence to environmental pol

I B Adherence to fair trad LA Auvtoor
proctices I B Demo
L C ahts legislation € Trade
L b and cu
b D Trode
3. Which & oliowing would not be o direct busine
benefit to o business operating in an ethical
way? 8. This action alw
I A The possibility of incurring extra cosis order 1o get o
LI B The possibilty of being portruyed in o outcomes, Wh
positive image A Consid
3 € The possibility of atiracting new W B Compr
customers d € Deceit:
3 D The possible retention of existing 1 D Referen
customers
9.  What type of
4. Which of the following would possibly be the behaves in wo
biggest drawback 1o a business of ethical specifically faiy
trading? 3 A Ethicall
4 A Severely restricts its ability to trade 4
[ B Severely rastricts its geographizal 4
sourcing of supplies &3
3 € Severely restricts customer footfall :
L B Severely restricts its competitive obility 10. Environmental ¢
include issues s
5. Which of the following are not environmental whaon?
considerations for a business? Tick one box. A Troffic
L A ICT ond telecommunicotions (4 B Recyd
L B Air pollution and noise pollution I € Globka
4 € Waste monagement and recycling b D Alof
3 D Rood network infrastructure and :

COPYRIGHT
PROTECTED

traffic congestion
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3.2.3 = The economic climate on businesses

1. Inthe world of finance, what does the acronym
APR stand for?
[ A Annual percentage rate
3 B Average percentage rate
4 € Accounting percentage rate
4 B Actugl percentage rate

2. If o business gets o one-year loan of £10,000
from a financial institution and s quoted an
interest rate of 5% per year on borrowings, how
much will it have 1o repay in total af the end of

the year?

L A £500
L 8 £9,500
b € £10,000

0 b &l

fefed o 0.01% per annum interest
ncial institution, how much will their
£100,000 savings be worth at the end of the

year?
A £39900
L B £99910

L € £100,010
L B £100,100

4. Which of the following stotements is frue?

LA A higher interest rote is paid on savings
than is charged on borrowings

B A lower interest rate is paid on savings
than is charged on borrowings

¢ Interest rates on borrowings and savings
are always equal

B None of these statements is true

£

hich one of the following stotements s untrye?

A A high interest rate means money is
cheap 1o borrow

B High interest rates usually encourage
consumers fo save their disposable income

€ Alow interest rate means cheap money

B Low interest rates discovrages consumer
savings

b
0o O dx O o O

&, All things being equal, which of the fo
statements is most true?
LI A Bankioona
: wing
ef, o bank loan is much

usualy much cheaper than o bank loan
D The borrower dictotes the rates for both
foan and overdraft

3
L € ™o borrower, o bonk averdraft is
L

7. Which of the fol

stafements is

d
ok
.
d

E]

J B
L€ orwill
LD Irwill

overd
12. What impogct
loan or overdr

oA

(B

0
3
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13, What impact on the commercial bank system 15, What impact
might regulor periodic fluctuations in interest
rates have over fime?

L A Creote certainty

L B Creote uncertointy

L € increase its employment of IT systems
D Moimpact at gl

14, What might be the most likely impact on
consumer spending of the fear of a sudden sharp
rise in interest rafes?

A increase consumer spending on luxury
goods only

B Increase overall consumer spending

€ Reduce overall consumer spendi

B It will have no impact :

spending

0oo
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1. Which of the following is used to communicate

the fact that the world is becoming more and
more interconnected and integrated in
commercial and cultural terms?

A Bive planet

LI B Bive markle

L € Multigenerational

L B Globalisation

2. Which of the following is most correet with
regard to advantages of globalisation to UK
businesses?

3 A The world is now their market

L B UK husinesses can sef u ;
practically anywh

L € They toke gub

VN

bove are advantagess

3. Dumping is the name of the process whereby o

foreign business sells its excass production

cheaply on the world market, What might this do
to the demand of similar products produced and

exporied by the UKE

L A Reduce it

L B increcse it

W € Have no impact on it
L D Al of the above

4. What might be considered o serious and
uncontroliable drawback of glokalisation 1o
UK businesses?
L A Securing favourable trade deals
LI B Potentiol markat growth
L € Dumping
L B Longuoge borriers

5. Which of the following options may not help o

UK business compete internationolly?

L3 A CGet u competitive edge over
foreign rivals

L B implement o less competitive
pricing policy

£ Produce more durable products

Have better-designed products

o0

cheap labour in

10.

"This is the valu
to onother cou
it."” What is this
Ll A inflan
d B Curren
4 € Banki
LD intern

Ll A British
4 B British
€ Brinsh
L4 D British

4 A Barter
W OB Tradin
4 € Export
4 D Import

. B Politici
4 € Expori
LD Import

What is the m
pound sterling
' & Cause
B Couse
€ Cause
D it will

(N NENE N
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1. What law specifically refers 1o the legal 6. Which parlia
relationships and obligations that arise befween purpose of se
employers and employees? welfare of an
LI A Contract law cause 1o be in
LI B Employment law (d A Faco
L € Consumer low L B Healt
L D Health and safety law LI € Consu

D Eguel

2. Whean was the National Minimum Wage
first introduced?
LA 1= April 2016

L B 1# January 2016 3 A Recru
LI € 1« April 1999 4 B Recru
L B ¢ jonuary 1999 L4 € Alien

‘ L4 D Enawr

3. To which grouping

Wage, L 8. Who has the

4 A3 eiale workers 25 years old provisions of
I B8 Y male workers 25 years old 4 A Emplo
L € Workers of 25 years of age and over 1 B Custo
[ B Workers under 25 years of age ¢ Tradi
3 D Reven

4. Which Act of Parliament gives legal protection
against all forms of discrimination? 9. What is the p
3 A Equality Act 2010 Protection Act
A B Companies Act 2001 4 A Prote
L € Trade Descriptions Act 1968 B Prote
L D Consumer Protection Act 1987 good
4 € Prote
5. What can be considered o positive impact of discris
employment legislation on o business? 1 D Prote
L A Troining ond implementation costs infloti
L B Time involved in keeping up o dote with

current legisiation 10. Which one of

LI € Time and cost involved in ensuring appropriate
compliance with current laws implementing

L D Full complionce with employment low low impact o
avoids prosecution and finoncial 4 A Costl
penaiiies W B Time-
L € Stress

L D Allof
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3.2.6 — Competitive environment

. What is the mest appropriate missing word in
the following definition of o market?
‘Any place where buyers and sellers mest to
undertake F¥¥%%) ransactions.”
L A commerdial
LI B controct
L € physical
L B electronic

2. What is the name given to the specific customer
grouping identified os the most likely potential
buyers of o business’s product or service?

L A Mass market

3 B Niche morket

b € Torget market

ke piace when two or more
Tgoods or services compete for the
same customerss

3 A Competition

LI B Parmership formation

L € Company formation

L D Monopoly

4. Which one of the following stotements is
most correct?
L A Competition always impuacts negatively
on o business
B Competition always impacts positively on
a business
Compstition never has on impact on o
business
L B Competition always hos an impact on o
business

£

L
o’

5. When does a true monopoly exist?
L A When o business has very little
competition
3 B When a business has absolutely no
competition
L} € When o business has some competition
L B When o business has extensive
competition

10.

Which of the

A They
3 B They
W € They
0 D They

Which of the
that o busine
outcome of w

L3 A Busin
L1 B Busin
L € Busin
D Busin
Which one of
business can
start up?
4 A Unde
M B Unde
L € Unde
proc
W D Toke
maie
Which one of

caleulated?
A Busin
Ll B Busin
Ll € Busin
L1 DB Busin
Why do entr
business vent
O A Only
0 B Only
L € They
L D They
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3.3.1 ~ Production processes

1. The tongible physical production of goods involves
three processes. The input of raw materials process
and the finished goods output process are two of
the: processes. What is the third?
3 A Tronsportation process
L3 B Tronsformation process
4 € Servicing process
LI B Sonctioning process

2. What is the name given fo the mea
the extent to which an individ

3 p Moduciion

3. Which of the following is the most appropriate
answer to the question 'Which of these is o “lean
production” technique?’'?

I A Cell production

L B lust-in-time stock procurement

L € The philosophy of Kaizen

D All of the above are lean production
technigues

4.  The building of a luxury yoacht would be classed
as what kind of production?
4 A lJob production
3 B Jjust-in-time production
3 € Flow production
LI B Leon production

5. Which of the following is another name for mass,
or assembiy line, production of identical
standardised items?

L A Job production

I B Flow production

L € Just-in-time production

4 B Leon production

10.

Which product;

Which of the
produced usi

W
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3.3.2 =~ The role of procurement

i, Whaot is stock procurement?
d A The process of o business buying stock
L} B The process of o business selling stock
LI € The process of a business controlling stock
L} B Mone of the above

2. What is the prime purpose of stock monagement?
3 A Toensure that o business always hos
maximum stock
L B Toensure that o business always has
minimum stock
L € Toensure that o business always has
sufficient stock to fulfil customer
3 B To ensure that o busin
a profit '

rstocking takes place

L B Mo stock is unnecessarily storad

L € Stockis procured ot the lowest price
LB Only high-quality stock is procured

4. lJust-in-time is o system of stock management.
Which of the following is on alternative 1o this
system?

LI A Buffer stocking

I B Troditional jusi-in-case stock control
€ Stock procurement

L D Continuous stockiaking

5. What is bulfer stock regarded os?
A Always unnecessory
L B Maximum stock level
3 € Minimum stock level
L D Safety net stock

6. When using the traditional just-in-cose stock
control system, what level of stock is it advised
not to exceed?

4 A Average stock level

3 B Buffer stock level

L € Moximum stockholding ceiling
LI B Minimum stockholding floor

7. What must a supplier of goodd
A Competitive .

i B :
v
U o

8. How might the relationship between business
suppliers and their pricing policy best be
described?

A Incalevloble

B Ilrrelevant

¢ A fine bolancing act

B Non-existent

(MR RENEN

Q. Which one of
the number of &
and incremental
SOUFCE FOW ma
transform or hol
finished good
them availabl
LA Produ
L B Marke
Ll € Dema
L D Suppl

In the business
refers specific
conirols and &
stock into ifs &
from its envirol

WA Llogist
Ll B Procu
W € Mang

procurement §
cosis. Howeve

L A Purch
Ll B Marke
L € Mana
M R Techno

13. Benefits and r
systems of sto
business choos

W B Qudlity:
business
W C Quantit
businesg
W D Noneol

14. When choosin
business should 3
the foliowing? :

A Qualit
B Business

(R NN
9!
-~
o
&
a
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3.3.3 = The concept of quality

i.

Which of the following must always be consistently
high for consumers?

L A Price of product or service

2 B Quantity of product or service

L € Quality of product or service

L D MNone of the above

Which ene of the following is the international
accreditation standard for quality ossurance?
L A iSO 9000
L B 10S 9000
L € iSO 9100
L D 150 9200

Which one of these is net univer sai!y
4 & Business profit
L} B Business loss

' o maintain the quality of o product,
which one of the following statements is most true?
Benchmarking con be used

Statisticad process control can be used

A zero defects policy could be
implemented

All of the above would assist in maintaining

cuality

0 ood
fw e W 2 -3

Which of the following is a drawback 1o quality

checking by way of sampling o small batch of the

total final production output?

3 A I the small batch sample foils the quality
check, the whole sample batch fails

L B I the small botch somple foils the quality
check, the whole production batch fails

L} € i will prevent defective product units
moving through the preduction process

3 B Defecive products cannot be detected
using this process

Which one of the following statements about
‘sample baich checking by stage inspections’

is true?

L A it builds quality info the production process
3 B it ensures defect-free products

L € it speeds up the production process
L D i inspects gquality into o product

production procass and reduc
waste.” What is ?his refer

What is the name of the process that involves a
business systematically and continuously assassing
its methods and performance in all matters against
those of similar competitors?

L3 A Quality circle

L B Quality chain

3 € Statistical process conirol

LI D Benchmarking

10.

12.

13.

14,

. Which of the foll

Which of the foll
statistical proces
3 A Stock cor

“This involves the
employeas who
relating to maing
related issues in
following is this s

4 € Worker
Ll B Custome

cheiins’ aftempt 1
4 A Physical
2 B Cyberse
L € Zero def
L D Moneof

What should hay
production defec
-l A FEnhonce
1 B Enhance
L € Discourn
L D Help bu

There are downs
quality. Given th
statements is the
3 A Financial
. Time tak
Disruptic
Al of the
mainiain

ld
(
fd

TNw

What external in
measure the qua

provides?
4 A Volume
OB Motivari

L1 € Reductio
D Reductio

Which one of the
regarding how o
guarantee the g
decides to grow
bd A By taking

franchise

M B It connot
products
L € By writin
franchise

the busing;
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3.3.4 —~ Good customer services

1. What process involves a system of logical 7. In what woy
incremental steps o salesperson should go experience enk
through in order to effect an actual sale? reputation?

L A Marketing process (4 A Bysh
LI B Retention process mang
L € Recruitment process (3 B Bysh

L D Sales process L € Bysh

2. Which of the following does the sales process
require in order to be really effective? 8. ‘Which one of

L A Positive attitude from the seller cosi-effective
L B Negative attitude from the seller business 1o es
LI € Ambivolent oftitude by the bu customer serv
L B Loack of product knowled: L A ‘Poac
the szlier : frain
4 B Ensur
3. Which g would be an and

indico usiness provides good custo
custome d € Shop
L A Quality assurance accreditation off-th

L} B Environmental awarenass policy w D Senio
L} € Provision of an aftersales service axten
L D Competitive pricing policy

9.  Which of the

4.  Which of the following could mest be considerad extent of the
as o sign that o business is not praviding good business is tru
customer service? A They
LI A Folling profits revie
L B inability to retain customers W B They
L € Falling costs revie
L} B Seldom-used customer complaints W€ They

department main
d D They

5. Which of the following unecdotes is most likely of th
to apply to all customers?

3 A They will vote with their pennies 10. How might ra
4 B They will not vote with their feat how a busine
LI € They are never right W A Make
LI D They will always be loyal obsol

w B Moke

6. What might o business that does not provide an deliv
adeguate-to-good customer service expearience W € Make
be likely to suffer? auton
L} A Anincrease in the number of custome their

COPYRIGHT
PROTECTED

complaings

B A decreuse in custom
£ A tarnished in

D Al of the ol

R R
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3.4.1 ~ Organisational structures

1. Why must any business have the ability to be able 8.

to guickdy change its organisational struciure?

U
L

Ll

2. What use could o business have for a formal,
factual written documented orgonisationa

A To impress investors

B To adhere to its stakeholders’ demands

€ Torespond o changes in the dynamic
business environment

B To meet legal requirements

structure? :
L A As o business plan o
L B Asabudg
4 C =3 ployess to see where
: the business structure
T ) eans to obtain finonce for expansion | 10.

3. Whaot type of organisational chart would lorge and
medium-sized organisations usually have?

L
L
L
L

4. In a tolf organisational siructure, which one of the
following statements is true?

A Tall pyromid-like organisational chart
B Flat-structured chart
€ Circular chart

B Flip chart 11.

A informuotion con be passed downwards but
directives are always passed upwards

3 B Information con be passed upwards but
directives are always passed downwards

2 € Both information and directives are only 12.
passed downwards

LI D Both information ond directives are only
passed upwards

5. Whot type of organisational structure hos o short

choin of commaoand and o wide span of control?

L A Circdlar siructure 13.

LI B Pyramid structurs

L € Tall orgonisational structure

L D Flat orgonisotional structure

6. Which of the following is mest likely to be ¢
disadvantage of flat organisational stry

L

L
L
L
L

manager in o tall-siructured orgonisation mest
fikely to use in order to effectively relay important
decisions throughout the organisation?

A Encouraging emplove 14.

A Formal written
B Informal verbal
& Grapevine
B Telephone

15.

How are power o
the various layer

A By email
d B Bythe pry
4 € Through
(L D Through

What refers to #
line monager in
and responsibilit

L4 A Chainof
4 B Sponof
Ll € Employe
L D Product

Which of the foll
structured organi

L A Monage
I B Employe
4 € Chainof
W D Sponofe

Which one of thei
employee to hav
in o kirge-scale ¢
B A lnsecurity
W B Ajob-sh
L € Anambi

What should the §
organisation be g
WA Strotegic
LB Toctical @
4 € Doy-to-di
L D Departm

s

Removing lavers
structure is know
il A Redunda
4 B De-escal
€ Delayeri
3 D Employe

Which one of the

Which of the foll
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3.4.2 - Recruitment and selection of employees

1. Stoff recruitment and selection are two imporiant 8. Whatdoesap
processes in o business's life cycle, but whot is the A
third important process directly associoted
with them? B
3 A Staff retention process
L} B Stoff training process i c
4 € Job application process £l
3 B lob definition process

9.
2. What should o business send o an unsuccessful
job applicani? L A Coreer
LI A interview feedback W B Curricul
I B P&C € Curricdd
I € p45

4 B Letter of regret
10, Over how many
3. Which is the st o business to work in order to

emplo amployea? :
LA : Benefit of the local community U A 35 hows:
L B rove its image W B 30 hours:
L € To ossist in tactically and strategically L € 25 hours:

planning its future td DB 20 hours:
L D His olegal requirement

L

4.  Which of the following is a possible benefit 1o o
business of using internal promotion to fill a new
higher-level monagement position?

A It gets ‘new blood’ inio the business

B The work ethos and commitment of the

applicant will already be known

£ The newly promoted employee does not

have to be trained

D Bt does not cause reseniment and jeciousy 12.

betwaen employees

O o og

5. Which one of these is o drawback to using externdl
recruitment to fill o job vaconcy?
4 A itis time-consuming and costly
LI B it encourages employes motivation
3 € A higher calibre of job applicont is assured
4 B It fodlities a speedy recruitment process 13,

4 D Flof-rot

Which of the fo

6. ‘This involves the systematic collection of all dota
and information availuble about every aspect of o * B
particular job.” Which of the following is this :
describing?

L A Jobs analysis

3 B lob description
LB € Job specification
LI D Curriculu

COPYRIGHT
PROTECTED

14,

7. Which' sotuments focuses on o specific job, WoB
highlig il dletailing its main dutias and 4 € Zero-ho
responsibilities? g
LI A Person specification
L} B Person analysis 15,
4 € Job description

L D Job design
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3.4.3 — Motivating employess

1. What is the name given to the pesitive force that
energises and drives an individual 1o behave in o
certain way?

L A Demotivation

[ B Motivation

L € Money

L B Performance-reloted pay

2. Which of the foliowing would be o benefit to o
business of having o motivated workforce?
L A improved staff retention rate
3 B Guaraniesd good industrial relations
L € Guoronteed profit
L D High staff turnover

Whai is probably th
the majority of

3

A
i B
L C ¥
L D Praise

4.  Which of the following refers 1o paying on
employee according fo the number of units
they produce?

L A Salory

L} B Commission
A € Time rate
L D Piecs rate

5. Which of the following best describes time-rate
payment?
4 A The more hours an employee works the
more they are paid

B The less hours an employes works the more

they are paid

they are paid
£ Hours worked and pay rote have no
connection

L
[d € The more hours an employee works the less
.

6. Which of the following is o system by which
employees are paid an additiona! amount

calculated as o small perceniage of the profits the

business makes over the year?

J A& Bonus
L B8 Profit shoring
L € Commission
d D Piece rate

o additional, one-off,

€ Bonus
D Commission

8. Which of the following is a fringe benefit to an

employeea?

LA Salory

L B Free health insurance
b < Wage

L D Bonus

S Taotivator for

11

12,

14, Which manage

13.

Which of the fo
cifficuities when

Which of the fo
financial motivg
Ll
4

L
d
fd
A

(L D Theyar

creativity and seg
ar organisation? i
U A Autoerotiy
4 B Democrai
€ Loisser-fo
B All of thei
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3.4.4 —~ Training

1. What can the ability of o business to quickly 7. ‘Which of these
respond 1o unexpected changes in customer lend itself to th
demand be a result of? new working p
L A Good employee training L3
LI B Goodwill of customers L
L € The stare of the market 4
L D The level of competition "

2. If employees feel that they must, rather than want
to, undertake thase, then this is o real drawback 8. What is off-th
to o business. What is this referring 108
3 A Employee troining schemes
4 B Employee perks
L € Employee holidays
LI B Employee eniitl

. What type of

3. Whaty specifically aimed ot off advantage of
new = - fraining from s
A S8 training instructors?

L B Off-the-job training LA Inform
L € On-the-job training B induct

L D induction training 4 € ln-hou

4. Which one of the fellowing is another name for

on-the-jok fraining? 10. When underta
A induction training employee doe
L3 B In-house training immediately t
L € Cosusl training What training

L D Outsourced training L A Praciic
I B Appre
5. Which of the following jobs would not easily “ € On-th
land itself to on-the-job training? W D Off-ih
L A Bricklayer
3 B keurosurgeon 11. Which of the §
L € Mechanic of running an i
4 B Electrician new employee:
L A liisc
6. Whot type of employee iraining is considered to detrac
be the least expensive for the business itself? W B dtcon
3 A Formal training ) feel p
LI B induction training € Hrcon
LI € On-the-job training ) to riva
LI D Off-the-job training W D Allof
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3.5.1 ~ ldentifying ond understanding customers

1. Which of these processes aims to effectively
identify customer needs and wants?
[ A Morketling process
3 B Production process
€ Sales process
L D Finoncing process

2. Which one of these would not be classified as o
consumer need?
2 A Adeguate food
B Adequate clothing
L € Adequate shalt
] ho

3. Which ¥he following statements is true?

riere is no such thing as a high-level
consumer wont

B There is no such thing as a basic

consumer need

Consumer wants are very limited in scope

B Consumer wanis are unlimited in scope

£
3=

oo o
e’

4. What is the pri

LA Tosel
B Tosel
anyo
W € Tosel
the g
D Tosel
othar
Why must a b
customer nee
W A Toid
4 B Toid
¢ Soir

£
&3
i
&
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3.5.2 - Segmentation

1. Which of these is o process used by o business to 6. This segmentation
identify and target potential customers in o mass customer’s needs
market on a basis appropriate to the product or Which one of thei
service it hopes 1o sell? 1o¢
L A Mass-morketing A lncome se
L B Market segmentotion 3 B Agesey
LI € Marketing mix W € Geogro
L B Market expansion d D Gender

2. What should o market segment indiclly be 7. |f a business geo
capable of sustaining? market, what typ
3 A Adequate revenue income for the busi performing?

3 B High level of profit for the busmn 4 A Age

LI € Absence of competition B Ihcome ¢

L D Competitors 4 € Llocation |
4 D Gender |

3. What rope s initial market :
segme the future? 8. What type of mag
L A S8 more competitors o be used to tar
L B Remain constant superours?

L € Expond 4 A Locotion
3 B Shrink OB Ageseg
4 € Gender

4. What type of market segmentation involves 4 D ihcomes
splitting o mass market into different groups based
on the demographic of sex {that is, being male 9. Which of the foll
or female)? segmenting ifs m
3 A Income segmentation 3 A irconbe
LI B Locotion segmentation target m
L € Age segmentation B It canpl
L} B Gender segmentation effective

4 € The busin

5. The market for which of the following is most likely much bet
to be segmented by gender? L D Allof the
L A Clothing
L B Food 10. Which statement
L € Housing segmentationd
[ D Soft drinks LA Irisatim

o busine

4 B liensure
d € 1 mokes
business’

D None of
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3.5.3 — The purpose and methods of market resecarch

1. Which of the following is the costly and time-
consuming systematic collection and analysis of
data collected from the general public?

L A Maorket segment

LI B Maorketing mix

L € Market research

L D Market segmentation

2. In whot way might effective market research
assist o business over ifs rivals?
L} A By giving it an excessive cash income
LI B By making It more cost-effective
L € By giving it profit superiority
L D Bygiving it o competiti

3. Which type of ny

involvey nd structured gathering
of cola ical facts and figures from
survey

L A Quantitative market research
L B Qualitaiive market research
L € Guality research

L D Analytical research

4.  Which type of market research would be original
field research by the business itself?
4 A Secondary market research
3 B Primory market research
[ € Guontitative market research
L D Qualitative markat research

5. Which one of the following is not o disadvonioge
of primary market research?
LA i is time-consuming
3 B Itis relatively expensive
W € i con get new, updated and relevant
information
4 B lts results are not always fotally reliable

6. When designing o questionnaire, what must o
question naver be?
L A Wordy in length
LI B Short inlangth
[ € Unambiguous
L B Ambiguous

7. What primarily determing
design of g ma ' ey?
A Siquestions that are 1o

Sed
[ © way that the survey is 1o be
carried out
LI € The skdll and reputation of the surveyor
L D The level of refiobility required from
the survey

8. Whattype of s
when having a
observation wit

A Foosg
L4 B Consum
4 € Mailed
L D Noneo

surveyse

L A Thepe
access

4 B The pe
access

L € Abusin
comple
4 D Alloft

10. By what is seco

known?

4 A Tabler
B Deskre
Ll € Bookr
W D Compu

disudvaniage
research?

LA itis alw
out tha

OB i sowe
environ

€ iuses

L D itdoes

that internal so
inaccurate and
Ll A Develo

(0
B N®
R
o
et
&

3

secondary rase
L A Gener
bl

14, Which is the ma
often presenteq

tables? :
G A hisach
L B itmake
1o undey
¢ o eliming
D itistote

COMpUIR
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15, What is the name of the circular visual aid thai is
divided into meaningful and measured individual
sagments and is often used to present data?

L} A Scotter graph
3 B Line graph

L € Piechort

3 D Borchort

16, What is the name of the digital resource,
arranged in o grid of rows and columns, that
allows calculations to be made and facilitates the
production of graphs and chorts?

L A Computerised spreadsheet

L B Computerised word processor
3 € PowerPoint
4 B Emgil

¥ cdefines the term

ntage of a niche market that o

hess actually gets

B The total number of competitors in a
market

kusiness actually gets
B The total number of poteniial buyers in
a morket

L
4 € The percentage of the total market that a
L

18. What is the na
total market th
fo its competif
L A Marke
1 B Marke
L € Marke
D Marke

20. How are both

expressed?

L A Asaf
L B Asad
4 € Asap
LD Asar

21, Which of the f

L1 A Barcdh
L B Scoite
4 C lineg
D Allof
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3.5.4 — The elements of the morketing mix: price, product

i.

The basic marketing mix, or 4Ps, is the optimum 9.
integrated combination of four elements: price,
product, promotion and which of the following?

LI A Proctical
3 B Proctice
€ Profir
L D Place

What pricing policy requires that o business pays
careful attention 1o what its competitors are
charaing for the some or similar product or
service?

[ A Competitive pricing
L B Cost-plus pricing
3 € Loss leader pricing
3 D Price skimming

strateay that

se with essential goods,
such o a:;read which they sell ot or
below ciy attract cusiomers into their store?

4 A& Price penetration

L B Cost-plus pricing

2 € Loss leader pricing 12.
L B Price skimming

What is the no
large

Which of the following pricing policies is possibly
the simplest 1o understand and the easiast to
both calculate and implement?

4 A Competitive pricing

3 B Cost-plus pricing 13.
L € Price skimming
LI B Price penetration

Which of the following is an external factor that can
influence the pricing decisions o business makes?

3 A Marketing mix strategy

L3 B Aims and objectives

L € internal cost structure 14.
L D Level of market competition

As a general rule, ‘as the selling price falls, the
quantity of goods demandad by o buyer rises’.
What basic economic law does this refer 102
[ A First law of demand

3 B First low of supply 15,
LI € Loaw of diminishing returns
L D Nonre of the above

What must a business keep doing when
operates in o dynamic environm
LI A increcse in profi
d B Increase in.

n operating costs

What is the name given to the stage ina
marketing process whaereby customers’ attention is
specitically drawn to slight variations, or
differences, to what is basicaily the same
product?

L A Product diffusion

LI B Product differentiation

3 € Product promotion

L D Produce placament

. Which of these

Al what stage |
regarded as o

A introdu
4 B Growth
W C Maturit
B Dedline;

Updating packe
hoving differeny
markat, ex‘rensi;
selling price. Of
L A Product
W B Product
d € Product
4 D Product

its product porty

4 A The dis
d B The ma
4 € The Bol
4 D The Bos
Why might o b
promotion?

M A To satis
- B Toatte
L € Toensu
M D Toensu

different types
business uses fo

4 A Product
4 B Boston
4 € Promot
LI D mMarket

Which one of t
part of the advy
;] & Televisisy

W D Special:

The use of whick
sales promotion:
4 A Specigl
d B Compe
W€ Trades
Ll D Point of

What element

process of ensy
available in the
and in the right
consumer dema

3 A Place @
1 B Product
W € Price
5

D Promo?;;
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17. What is long-channel distribution also known as?
A indirect selling
[ B Direct selling
L € Retoiling
W D E-commerce

18. Which one of the following statements is frue
about direct selling?

it is o form of long-chonne! distribution

it is a form of short-channel distribution

It cannot fake place over the Internet

it involves several intermediaries between

seller and final buyer

0ooo
TOHW B

19, Which one of the following is not essential for the
succasstul undertoking of o commercial transa
using the Infernet?
A Elecironic powsr suppl
LB World Wide We!
[ I » Deskmp PG

20. Which & liowing best indicates the
mfe:dependence of ail elements of the marketing
mix?

LI A 4ps

4 B Product life cycle
3 € Promotional mix
L D integroted morketing mix

2. Which one of the following is not true?
3 A Products are promoted fo attempt to
increase o business’s sales
L B Producis are never promoted in the hope
of increasing profit
L € Product promotion can be informative
LI B Product promotion can be persuasive

22. Inlight of the COVID-19 pandemic and
developments in digital technologies, which one of
the following appears to be becoming less
significant to customers?

A Product placement

LI B Product price

4 € Local availability of products
L B Mong of the above

23. When developing o new preduct, what should o
business give consideration 1o%
L} A The product’s design
L B The image the product will projec
4 € The needs of the target market
3 D Al of the cbove

24, There are four cat
Stars, Problem

h Cows are three

of thexy votlowing is the fourth?
b A

4 B3

LB C Bems

L D Siags

25. Which of the following defines the Cash Cow
category of the Boston Box?
3 A Low morket share and low morket growth
LI B High market share but low market growth
L € High market growth and low market share
LI D None of the ahove

26. There are bene
using e-commer
following is a p

Ll A Loss of
4 B Compu
L € Lossof
L D Compu

27. What is the ba
fa-commerce’ o

4 A Digital
domain
genera

i B Digital

commerce best
the reach of th

markets?

4 A Provid
commu

Ll B Allows
for sale

M C Focilita
and ins

W D inalith

29. For which of th
marketing be |
L A Superm
4 B Finond
W € Smalin
L D Travel

30. ‘Costa Coffee’
and a ‘Starbuc
Fight Club are

32. Why might a bu:
process, people:
busnc marketing

O o oo
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3.6.1 ~ Sources of finance

i.

Which one of the following is an infernal source
of finance for o business?

LI A Bankloon

1 B Bonk overdraft

3 € Sale of business assets

L B Mortgage

Why might on internal source of finance be the
maost likely choice for o newly established, small-
to-medium-sized business?

A They are likely to lack the cr
needed with lending in '

ance is aiways easily available
% | finance never has o cost
associated with it

Which one of the following is o long-term
external source of finance for o profitable
established business?

3 A Retoined profis

L B Hire purchase

[ € Bonk leosing

J D Extended credit terms

If o small business gets an overdroft faclity from o
bank, what type of finoncial sourcing is it getting?
LI A Long-term inferncl

[ B Short-term internal

L € Long-term external

3 B Short-term external

Which of the following is it mast essential for o
business to have in order to be eligible to apply
for an external source of finance?

L A Stotus and credibility

L B Recruitment plan

€ Marketing plon

LI D Cosh flow forecost

What are retained profirs?

A Profits owned by all stakeholders
4 B Short-term businass profits
4 € Historic undistributed profits o
business has
3 B Historic distributec
Selling uita of finance for ¢
busine ain drawback?
b A ~hand assets always demand too

1o price in the market

3 B Second-hand assets only have a specific
use and so have o limited market

L € Second-hand assets are always inferior to
new onas

3 D Second-hond assets only legally offer
six-month guarantee to the buyer

8.  Which of the foé

a1 business o ra

A Morga
4 B Banko
L € Bankio
i D Extend

Q. Why is it usuall
CFTanNge on ov

]
4 € Becaus
d

10. How does o ba
1o customers?
L A Applyi

o
€ Chargi
0

than it

11. Which of the fo
longest to rep
4 A Mortga
L B Bankio
i € Bonko
L D Loanfr

12. Which of the f¢
transferred 1o

d A leasing
4 B Hire pu
3 € Outrigh
d D Credit

Using which for
never gets own
L A leasing
4 B Hire pu
W€ Credit
3 D Debitc

14. Which source o
sole trader?

LI A Banklo
B Exvend
Ll € Mewsh
4 D Bonko

15. Which one of th
eption for a sm

A Medium
W B Llong-ten
L € Lloon fra

4 D Govem%
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3:6.4 = ﬁﬁﬁh ﬁ@w

1.

What is the name given to the movement of
actual money in to and out from o business over
a specific period of time?

L A Coshflow

LI B Coshcow

L € Fund flow

L B Profit and loss

Which of the following stotements is untrua?

A A cash flow forecast is a quantifioble
financial statement

L B A cash flow forecast Is not o quantifiabl

financial statement

L € A cosh fliow forecast is

foss statement ;

EB s

e Tollowing would cause o business to
experience a cash flow problem?

3 A Excessive stockholding

LI B Large unexpected payment

[ € Large debt going bad

LI D Al of the above

What is o likely consequence for o business
having persistent and severe cash flow
problems?

L A it will lose all debtors

L B it will be able to pay all creditors
3 € It will eventugily cease 1o trade

L D it will moke o trading loss

How might a cash flow problem resulting from

persistent overstocking be best sorted in the long

rung

L A Chonging suppliers

J B Building a bigger worehouse

L € implementing o manual bor gote stock
requisitioning strategy

[ D implementing o computerised just-in-time
(JIT) stock requisitioning strategy

A cash flow problem can be caused by
slow-paying debtors. How might this be
he minimised?
L A Offering spec

~paying dabtors with

ngy creditors for extended credit

terms

B Writing-off the bad debts and changing
customers

10.

11

. Which of the f

What is the pr
its bad cebis

Ll A Debta
4 B Debtf
i € Debtf
L D Debtf

The need fo p
cause of a cas

How might o b
i A Ignore
poym
4 B Agree
credit
W € Geto
4 D Givet

L4 A Period
L B Sustair
€ Pericd
I D Fregue
What is the lik
a busingss?
4 A Creat
d B Theak
save o
4 € Maokes
o loan
Ll D Allof

Ll A Coshf
4 B Profit
€ Megat
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Consider the cash flow forecast in Table 1, below, 15, Which one of

and then answer the two guestions that follow. WA abu
cannoty
13. Consider Tabkle 1 — Cash Flow Forecast, and 3 B ifobu
choose the proper opening balance for CUNNG
Dictober 2020, 3 € There
L A £33,000 batwe
L B £30,000 B There
L € £3000 betwe
L D £6,000

16, Why might a
14, Consider Table 1 — cash flow forecast, and forecast?

choose the proper net cash flow for el
October 2020.
L A £3,000 b
L B £6,000
L € £9,000 L
Wb os L

Table 1 — cash flow forecost
Cash flow forecast for 3 months ending December

October | November | Dece
£ £
Opening balance - - {3,002
Cash incomes 15,000 9,000 24,
Total cash inflow 18,000 -
Cash outflows 12,000 18,000 12,
Closing balance - -
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3.6.3 ~ Financial terms and calculations

1. Which one of the following statements about o

business’s unit varioble cost is frued

3 A s volue never changes within on
accounting period

LI B Hs volue con suddanty change within an
accounting pericd

L € s value cannot be calculated

L B s value con never be recovered

2. Consider Figure 1 — total variable cost graph,
overleaf. Why does the total varioble cost line
starts o ‘07, the base line?

3 A If no units are made then no vari
costs are incurred

2 B If nounits are m
b < e then no total costs
d o mistake — the voriable cost line

should not start there

3. Which one of the following statements about
fixed costs is not frue?
3 A Fixed costs are also known as direct costs
L B Fixed costs are also known as indirect
costs
3 € Fixed costs con change in value over time
L D Building insurance is a fixed cost

4. Consider Figure 2 ~ total cost graph, overleof.
Why does the total cost line start obove the base

line ‘0’2
A Mo costs are incurred if no units are
produced
3 B Fixed costs must be covered before

production fakes place

Fixed costs are incurred even if no units

are produced

D Variable costs are incurred even if no
units are produced

]
o

5.  What is business turnover also known osé
A A Cash
LI B Expenses
L € Profit
LD Saoles revenus

sxeess of o
Fover expenditure for o

6. What is the nam
businesy

given 1%

O a »

I B Profit

A € Positive cash flow
3 D Bregk-even income

7. Which one of
capital invest
calcylated by
initial investme

L € Breok
4 D Profit

8. A business car

O A 1%
OB 2%
M€ 3%
oD 4%

Q. This is the numb :

and sell to cov

is this referring®
W A Toral cg

3 B Break
L € Morgi
L D Profit

10. What is the na
business con o
before it mak
A Profit
Ll B Buffer
€ Marg
W D Margi

Gluestions 11-19 ¢
chart, overleaf.

11. Whot is the na
cost and total
L A losp
L B Profis
L1 € Breck
WD Margi

. Which of the f

. A Mone
B Revenus
€ Cost
4 D Sales
13. What does th
td A Them
i B Them
- € Anar
L D None

the ARR criteric
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14. Whaoat does the area between the fotal revenue
line and total cost line represent (4)¢
L A Anarea of loss
I B Anarec of profit
3 € Positive cash flow
2 B The volume of units produced and sold

15. Which of the following would be included in the
calculation of this line (5)2
L A Direct materials cost
L} B Direct expenses cost
3 € Building insurance cost
3 D Direct lobour cost

16, If ol costs remain the same but the tot
line becomes steeper (i.e. rofa
will happen to the bre

not change at all
change slightly depending on the
type of product

oo
3

17. If the fixed cost line moves ypwards but
everything else remains the same, what does this
indicate?

A Only variable costs have increased

B Only fixed costs have increased

€ Total costs hove increased

B All costs have decreosad

MENENEN

18. If all costs rem
but total rever
happen 1o the

oA
W B
U c
)
19. Which of the f
margin
b A
d B
W oC
4 D

20. Which one of
break-even o

U A
M B
o G
D

It will
it can
it will
It will
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Figure 1 — total varioble cost groph

Toral variable cost line
£

Cost (£}

2o,

Units of output

Figure 2 — iotal cost groph

&

Total cost line

Cost (£}

Fixed cost line

.
B

& Units of oulput

Figure 3 — break-even chart

2

£

Total revenuve

Total cost

¥

¥

0 Units of oulput p
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3.6.4 — Analysing the finoncial performance of a business

1. ‘Which one of the following best explains why 9. How are trade
financial statements are extremely important and 3 A Current

useful to any business organisation? 4 B Current li
L3 A They help assess present and future € Trode pa
financial health W D Fixed asg

L B They help monitor finuncial performance
L € They make for betier-informed decision- 10. Which one of th
meaking commitments o
LI B Al of the above someone outsid
A Troder
2. Whaot does o business’s income statement show? L B Current
L3 A Income and expenses over o specific
period of time
LI B income only for o specific moment |
[ € Cuosh flow for a specific per
L D Assets and Hahilities o
of time
3. What ies/stock automatically
becom of the closing accounting
period

A Unsalable

B Unprofitable

€ Opening inventories/stock for the next
accounting pericd

D Closing inventories /stock for the next

accounting period

4.  'For every £100 of sales, a gross profit of £40 was
made.! What is this expressing? ;] A Equity
L A Gross profit margin B Entity
L B Netprofit margin w € Netoss
LI € Total sales revanve
L D Total gross profit

14,
5. If on £200,000 of soles a business makes a gross foiiowing is add
profit of £120,000 and o net profit of £20,000, ;d!cuim?ang a ??U
what is its net profit margin? - A Workin

O A &% W B Netass

L B 60%
LI € 25%
L B 10%

15.

&, Which one of these statements about o statement

of financial position, or balance sheet, is ynirye?

3 A It does not cover o prolonged time period
but is o snapshot for o specific fime

L B it does not make use of any data from on
income statement

L € B shows current assets

B i shows current liabilities

COPYRIGHT
PROTECTED

business

7. Z;’:g:i; of the foi.iow: ‘ 0 B Business
O A Fdebt o business owes 0 £89’00
L 8 ng-term debt o business owes ' C Business ¢
L € 8¥em o business owns outright or has 3 b
control over
L B Anitem o business does not own andl does
not have any control over 17. In what way migh';‘é
8. Which ane of the following is not on example of o z:a;?;:g;?;e of ©
non-current asset? — P
L A Plont ond machinery 5% g gz:z;gz
[d B Positive bank balance T € Conside
L € Lond and buildings compei
L D Motor vehicles O D Anyof
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3.1.1 = The purpose and nature of businesses

1. Whaot, in the long run, must o commercial business
be in aorder to survive in its market?
3 A Profitable
L B Exponding
L € Exporting
L D Employing

2. Which of the foliowing organisations would not
have the profit motive as its primary reaso
being?
3 A Commercial bank

[ B Foocd baonk

W ol :

R

3. Which one of the following business activities
provides the consumer with o tangible physical
product?

4 A Insuronce compony
4 B Travel agent
€ Commercial farm
3 B Commercial bank

4. Which of the following does the intended market
best indicate the distinction between?
2 A General goods and services
3 B Producer goods and consumer goods
L € Sole trader and limited compoany
L B Large and small monufacturer

5. Which ane of the following is not o business
service?
4 A Bonking
3 B Insuronce
4 € Warehousing

L D Building
6. Which is not an essential consumer need?
L A Food
A B Clothes
X € Shelter
L D Monsion

7. The word ‘
of th :
[

fupplied to which

3 ;
3 € Consumer expectations
D Entreprencurial expectations

8. ‘Which factor afé
the one that ¢o ::-
and productive

W A Land
W B Lobouri
W€ Copitc

i D Enterp

10. Which one of ¢
in the primary
L A Bankin
3 B Buildin
L€ Manuf
LD Quaorr

11. What does the
economy do?
' A Provid

£ oo
fesd
Y
2
.

12. Which sector of
services sechord

A Primar)%
« B Second:
€ Tertiary

4 D Manuf

3. What is meant

(MR NENEN

A
B
£ Having
D

14, What does the §
and support?

i)
e >
Tpg
= <
1) (o)
- 22

£
v
Z
3
-
&
o
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15. Which one of the following can be identified as o
choracteristic of an entreprensur?

L A Risk-averse
I 8 Risk-taker
3 € lLoziness
2 B Disorganised

16. Which business brand name is the entreprensur
Sir Richard Branson specifically associated with?
L A Microsoft

L B Virgin
Ll € Amaozon
L D PoyPal

17. Which characteristic is it important fo
entrepreneur to have? :
LI A Having self-co
3 B Being hy

18. Which one of the following should 'daydreoming’
most definitely not be?
LA A rait of an entreprensur
L B An obiective of a business manager
L € A heoding in o business plan
L D A long-term businass aim

19. Why might o w

own bogsse
- A
- B
I
WD

20. What does the

b A
B
G
B

21. There are many
business. Which

a raason? ;
A They way
service &

(3 B Theyw
d € Theyw
o

D They ar
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3.1.2 — Businesses ownership

i, Whot determines the ownership, control and
management siructure between enferprises?
L A& Workers
3 B Copial structure
[ € Legal structure of o business
B Turnover

2. If the owners of o business are Hable for all of its
debits, then which one of the following statements
about the business owners is not frue?

3 A Cwners gre not protected by limited
tobility

LI B OQOwners are protecited by limited Yab

I € QOwners cannct get loo :
business

D Ownersco

ving refers to the fact that the
ownars SR business are liable only for the
amount they have invesied in i12

A Unlimited capital

L B Limited equity

L € Unlimited lichility

2 B Limited liability

4.  'Which one of these stotements is not trus?
3 A Sole trader enterprises are protected by
fimited Hability
4 B Soletrader enterprises are not protected
by limited liability
L € Sole trader enterprises cannot issue
shares to the general public
4

B Sole trader enterprises are not very large

multinational corporations

5.  The year 1890 saw the passing of which of these
acis?
2 A Limited Partnership Act
L B Pormership Act
L € Componias Act
L3 B Limited Liability Act

6. Which ane of the following requires a minimum of
two people in order 1o legally operate?
4 A& Soletrader
4 B Sole proprietor
4 € Crdinary gene
LI D Private Himy

reat

2

7. Which & following can sell shares, but

not to i Eheral public?
LI A Soletrader

L B Partership

L € Private company
L D Public company

Q.  Which of these

8. Which one of t
shareholders in

4 A All are
W B Nonea
4 € Onlyd

by limit
(d D Onlysh

shares

letters LTD or It

10. Which of these
letters PLC or p
L4 A Soletr
Ll B Partner
L € Private
L D Public

L B Parmer

L4 A s ver

can rol
L B fttcaunr
capital
ld € feconh
L1 DB Htisnot

micro- 18

13. ‘Profiis are dist
and type of sh
To which of the

refer?
A Ordinas

B Publicc
L € Not-for
W D Soletwr
14. What is o socia
A Publicc
L4 B Private
W € Partner

4 A Soletr
L B Partner
L € Limited
L D Anyof
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3.1.3 = $etting business gims and objectives

1.

Which one of the following contains the overall
long-term gouls of o business?

3 A Business plon

3 B Marketing plon

[ € Finoncial plon

LI D Personnel plan

What time period do business objectives usually
cover?

L A 1-5 years

L B8 610 years

L € 11-15 vears
2 € Over 15 years

SMART is o business ac

business objecti the letter § in this

L € Successful
L B Any of the above

Business philosophy differs between businesses.

What does this result in?

LI A Lodk of competition between businesses

3 B Businesses having similar aims

d € Business objectives differing between
businesses

[ D Businesses having the sume objectives

What approximate length of time would the goal
of murket domination be for a business?

4 A Short- to medium-term objective

L B Long-term aim

LI € Unachisvable

L B inevitoble

Survival should be the most likely ond sensible

objective for which of the following?

LI A A business with either very litile or no
competition

3 B A business dominating ¢ market

3 € A newly started business

L D Anexisting and well-established busi

How might o business encoury
its employeaes?
L A Apoly o
‘inancial motivaiors
ong unambiguous rules

aims and obiectives

What is o dynamic business environment most likely
to ensure®

A No change in initial business objectives

B A change in initicl business objectives

€ More competitors in the market

B Fewsr competitors in the market

(MENENEN

9.

10. Which of the fo

i1,

12. With reference

13. Serving the nesed

15.

in what way ca

WA Financia
WB Marketi
4 € Product
- D Allofth

maotivate every
L4 A Offerin

3
L € Setting
.

What should o

o business?

. A Toenco

4 B Toenco
the busi

Ll € Toenco
competi

L D Toenco

the following is
L A Objec
3 B Emploves
L € Manage
LD Al of the

is most likely to &

4 B Anytype
M € Socialen
LI D Al of the

market
d € lis prim
i B Bhasn

Which one of th
of o successtul o
business?
A Internat
d B Becomet
4 € Berego
envirom
M D Allofth
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3.1.4 — Stabeholders

1. Which of the following best defines o business 6. The selling pri
stakeholder? service would

4 A Only those people who own shares in the of which one o
business stakeholders?

LI B Anyons who has a finoncial, o sociol or (4 A Emplo
an environmental interest in the business 2 B Custo
LI € Only official government agencies are L € Credit
businass stakeholders L DB Debio
L4 B Everyons in the country is o stakeholder

in the business 7. Abusiness’s jo
would most lik
stakeholder gr
LA locol
3 B Credit
L4 € Debto
short term, for ¢ 3 D None

2. Which of the following is mest true about
business profi?

L A 1t is the likely prime obj

business owner

L B Itis essentighy

e made during o business’s 8. Enforcing payr
“ear of froxding the responsibil

3 D it con only be achieved by cost-cutting stokeholders?
i A Debio
3. Having o highly motivated, loyal and enthusiastic W B Custor
team of workers is likely to be the prime 3 € Gover
objective of which of o business’s stakeholder 1 D Accou
groupings?

L A The local community 9.  ‘Which of the f
L B Cusiomers impact siakeh
3 € Suppliers most frue?

3 D Deportmental managers (d

4. Which one of a business’s stakeholders is most
likely to have the objective of maintaining job

)
securify? 0
a

3 A Environmental grouping
2 B Fair trade grouping
3 € Employee grouping
L B Customer grouping
10. Each group of

5. Which of the following groups are stakeholders agenda io foll
of a business? please. What
3 A The government stakeholder gr
L B Creditors W A Adom
L € Local community L B Ithas
3 D Al of the above L € Hormo COPYRIGHT
d D Confli
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3.1.5 — Business location

1. Developmenis in Internet provision aver the past
five years have had the most profound impaoct on
which of the following?

L A Retoil sales

[ B Insuronce provision
€ Legol services

L D Secrstorial work

2. Why might o coal-fired power station be better
located near 1o its raw material source than o
manufacturer of GPS equipment?

3 A To minimise the cost of its direct labour
LI B To minimise the cost of its plant insura
L € To minimise s transport cost :
LI B To maximise its plant

3. Which one of nasses would be

most i S ‘ootfall?
L A sod takeaway

X B oke tailor

€ Dentist

L D Opticion

4. The general level of education in an area woulkd
probably be the most influential factor in locating
which of the following?

4 A Buicher shop

3 B Scientific research project
3 € Retail outlet

L B Corwash

5. Which of the following factors most reduces the
nead for a business 1o be physically located close
to its customers?

L A Low wuge economy

L B Cheap lobour

4 € Increcsed use of social media platforms
L D Good infrastructure

4. ‘Which one of the following statements about o
business choosing « ‘wrong’ location to operate
from is not frue?

L3 A it might impoct on the business’s alsility to
atiract appropriaie workers

3 B It might couse business failure

L € B will definitely have on impact on the
business entity

LD b will not impaoct on o bu

M

sine

o motorway

7. Which of the follow
s | pendent on?

3 Sofed warkforce

L i relecommunicaiions system

L € Good integrated road, rail, sea and air
tramsport infrastructure

3 B High-spesd broadband availability

10.

i1

12,

13.

135,

What does the
expeciation of |
locoted in o city
for one in the su

4 A Higher
Ll B Lowerb
4 € Lowerb
MR Guaran

W B Govemn
L € Mortga
4 D Bonklo

The place from
is the best descr

be located with
effect?

L A Stocke
LB Multing
4 € Sccigle
D Ceniral

For whot reasor
located near of
competitors?
L A Potemia
4 B Compo
4 € Security
L B Cosi-sh

A very efficient
infrastructure is
following?® 5
A Supermag
L B Caolicentt
€ Garoge @
D Dental sus

Pienty of storage%
facilities would by

If o new, inexp
location for o n
which one of the
meast important
L A Excelles
W B Proximity;
W € Availobily
4 D Proximity
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3.1.6 ~ Business planning

i, ldedily, when should o business start to prepare 6. Which of the f¢
a writien business plan? cosi?
4 A Before it starts to irade b4 A Busines
3 B Onis first day of trading 4 B Busin
[ € After its first yeor of frading 4 € Prod
Ld B After its first yeor of profit W D Prod

2. What does o business plan positively contribute 7. What does th
to o business operation? cost + total §
Ld A Ensures business succass LA Total
I B Pravents business failure B Morg
L € Provides o yardstick against which L € Aver

business success can be measu
L D Guorontess the business

3. Which of the f its about o i A Busineg
businegyll is ; 4 B The co
L A it to potential lenders W € Thep
L B Sted by potential investors 4 D Busin
[ € Cheap ond easy to draw up been

LI B Only judges financial performance

4. Ina very fluid and dynamic market, in order to over expenses:
quickly heat competitors a business might not in WA loss
practical reality be able to do whot? B Profit
LI A Extensively alter their existing business € Turnove

plan to suit a new emerging market 3 D Costot
3 B Drow up o totally new business plan in
time for a new emerging market 10. When expenssﬁﬁ
3 € ignore their business plon despite the business madet
new emerging market O A Aloss
3 D Slightly tweak their existing business ‘

pian to sult o new emerging market

N NE NN

5. What will not happen 1o the total cost of direct
materials if there is an increase in business output
and material usage?

-4 A 1t will not remuain the same

8 It will remain the same

¢} will not increase

B None of the above

Qoo
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3.1.7 -~ Expanding a business

. Whaot is o business merger an example of?
L A internal business growth
L B External business growth
L € Orgonic busingss growth
L & Fronchising

2. What is meont by the term franchising?
2 A One business selling ancther business the
right 1o trade under its noame
4 B Tokeover of one business by another
L € Merger of one business with another
3 D The external growth of o business

3

‘The franchisor will retain control
franchises runs the franchiza
following best fits
L A

a1t

[ Ritidvantage to the franchiser of selling o
franchise

L € Advontage to the franchiser of selling o
franchise

4 B Advontage to the franchiser of buying o
franchise

4.  Which of the following is a way by which o
business can achieve organic growth?
L A M-commerce
2 B E-commerce
L € Quisourcing
L B All of the above

5. What is inorganic business growth also known as?
L3 A Unsustainable business growth
3 B Sustainabie business growth
L € External business growth
4 B Non-environmental business growth

the franchiser of buying a

7. Which of the fol
in o business ¢
A Takeover

W OB Merger
3 € Floatat
DB MNone of

an industry in ger
business? :
U A External &

oD Technical;

9. What is bulk puri|

L A Technical
3 B Manage
L4 € External
4 D interndl
10. Which one of th

diseconomy of
- A The abil
4 B lnodequ
L € Reductio
LD increase

11. If the average u
company procu
cost of producti

LA £500

LB £5000
WM € £50,00
i D Noneof

12. H o compony’s o

6. With regord 1o external business growth, which of mast frue?
the following s nof true? L A Rowmo
L3 A it con be achizved by business merger 4 B
3 B It con be achisved by business takeover b c
3 € It connot be achieved by new product 4 b :
development increasec§
3 B it cannot be achieved by any of
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3.2.1 -~ Technology

1. Whaot does the acronym ICT not msan when used
in today’s business environment?
L A interactive commercial trading
3 B informal commerdal technology
€ informotion communicated technically
L D Any of the cbove

2. Which one of the following is o multinational e~
commerce corporation that focilitates business
tronsactions?

3 A eBay
d B eBarter
L € eMail

3. Whatc gitel communication plotforms
guarantee their users?
A Absclute dato security
3 B A means of communication
3 € Personagl security
L D Al of the above

4. Which one of the following refers to the ‘Internet

of things'?

L A Digital devices communicating with
themselves, people and other devices

3 B Anclogue devices communicating with
themselves

L € Non-communicating computers

L B Al digital devices

5. Which one of the following facilitates ‘regl-fime’
communication between business stakeholders?
L A Microsoft PowerPoint
L B Post Office mailing service
L € Modern digital communications
technologies
L B Anclogue communications devices

4. ‘Which one of the following does not facilitate
online and real-fime Infernet communication
betweesn remote participants?

J A Webinars

B Windows

c 2 -

oo

10,

Which of the i
responsible for,
shops? :

TSO® >
=3
o

A Abilit

L B Recy

of sta

W € iInstar

trans

L4 P None

Which of the

impact of an

digital comm
ackivity?

M4 A Anin

busin

1 B Anin

busin

Ll € Anim

centr

W D Thee

ne im

in the busines

4 A Environ
B Eleciric
€ Easyco
0

D Any of
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3.2.2 = Ethical and environmental considerations

1.

How does the practical application of ‘business

ethics’ require o business 1o behave when dealing

with othars?

& In no particular way

B To get us much money from them s it can

€ With fairness but dishonesty in some
aspects of its dealings

B In o foir and honest way in all aspects of
its dealings

0 ooo

Which of the following would be an example of o
business not behaving in an ethicol way?
3 A Adherence to environmental pol
I B Adherence to fair trad §
practices
Adherenc

ahis legistation

: oliowing might be most likely to

result from o business trying to operate in an

unethical way?

I A Negoiive imoge creation portrayal

3 B Possible obiections raised by some
stakesholders

3 € Aninability to retain existing customers

L D Afall in new customer footfall

What might cause o restriction fo o business’s
ability 1o source its supplies?

L4 A Pursuit of o strict policy of ethical trading
3 B Not pursuing a strict ethical frading policy
[ € Product diversification

LI B Customer base

Which of the following should be of
environmental concern 10 a business?

L A Efficiency of ICT resources

3 B Telecommunications infrastructure

L € Excessive growth in single-use plastics
3 B Provision of high-speed broadband

In terms of methods of business growth, which one
of the following is the edd one oul?
- A Merger

B Trade-off

¢ Tokeover

B Amalgomation

ooy

7. Trode-offs betvi
day-to-day op
which of the fol
Ll A Moreuw

less de

¢ Ditficul

athics, t

Worka

environ

R NN
w

(]
iw

in the business

4 D Giving
outcom

frading?

4 A Busines
conside

B Always
conside
stakeh

L € Oniys
local so

= B Oniys

10. Air poliution ca

following busin
direct devastat

L A Employ
L B Product
L € Business
bt

B Building
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3.2.3 = The economic climate on businesses

1. Inthe world of finance, what does the acronym 7. 'Full employme
APR stand for? person in the ¢
[ A Actugl percentage rate actually emplo
3 B Average percentage rate sometimes desc
[ € Accounting percentage rate (4 A When
LI B None of the above is in onl
W B When
2. A business arranges o one-year loan of £3,000 is in ful
from o bank and is quoted an interest rate of 4 € Asitug
1 0% per onnum. it does not use any of this are in
money. How much interest will it have to pay the W D Anace
bank at the end of the yeor?
L A £0 Which of the fo
3 8 £300 on an economy
L € £330 that potential ¢
] income?
3 A Prolong
3. d ¢ 0.08% per annum interest employ
rate by? , how much interest will their 4 B Prolong
£10,000 savings be worth at the end of the year® employ
I A £8 4 € Consio
4 B £80 employ
[ < £800 W D Consta
LI D £864
@.  Which of the fo
4.  Which of the following statemenis is not true? consumer dem
4 A Alower interest rote is paid on savings A Consum
than is charged on borrowings w B Meeds
2 B A higher interest rate is paid on savings and pa
than is charged on borrowings W € Consum
I C Iinterest rotes on borrowings and savings D Consum
differ
LI B A bonk will charge interest on loans 10. i a person has
£50,000, pays
5. Which one of the following statements is frue? other statutory
LI A A high interest rote meons money s Wf’”id be the m
cheap disposable per
L B High interest rates usually discourage
saving
4 € A low interest rate means mongy is
expensive
L D Low interest rates encourage saving
6. Which one of the following statements is not COPYRIGHT
. H e .F
b A ngffdgfaiﬁ is not another no PR@?E@TE@
[ B Bonkloonus iigher rate of b C increos
interest 't ; draft w D Noneo
U er, o bank loan is usually .
k ‘heaper than o bank overdraft 12. Wh‘af will moke
3 D TBorrower does not decide the interest busmess%. .
rate charged on a bank loan or an Jd A Risein
overdroft L B Faliini
L € Sratici
W DB Noneop
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13. Which of the following is most likely 1o creaie
unceriainty in the commercial banking sector?
LI A Constant periods of high interest rates
L B8 Constant periods of low interest rafes
L € Stotic and predictable interest rates
L D Periodic fluctuations in interest rates

14. Which of the following is meost likely to cause o
reduction in general consumer spending?

A Sudden sharp rise in interest rates

B Sudden sharp foll in interest rates

€ Prolonged period of stalic interest rates

B Prone of the above

gooo

15, What is most

difficulie

A Const
OB Const
€ Lowin
3 D Hight

146, What is most

borrow more
4 A Const
B Hight
C lowintg
D None of

RN RN
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1.

What does the word ‘globalisalion’ imply?

A The world is interconnected and
integrafed in commercial and cultural
ferms

L B8 The world is diverse and unconnected
both commercially and culturally

L € There is o discomect between commerce
and culture through the world

L D The world is round

Which of the following should not be considered

as on advontage of globalisation to UK

businesses?

L} A They can consider i'he b
their potential m

B They con 1 on practically

n'ruthlessly exploit oll cheap

ir sources in foreign countries

B They take advontage of cheap abour in

non-UK locations

L
U c
L

In the world of business and commerce, which of

these is the more precise definition of the term

‘dumping’?

3 A Foreign business buying financial services
on the world market

4 B Foreign business buying products on the
world market
L € Foreign business selling its products

cheaply on the world market
3 D Foreign business selling its excess
production cheaply on the world market

How might UK business be impacted by foreign
businesses selling their excess production very
cheaply on the world markei?

L A Controliable advantage of globalisation
3 B Uncontroliable drawback of giobealisation
4 € Incentive to be more productive

L B Opportunity in their home market

What impact could using the incorrect pricing
policy for goods or services have on o UK
business when trading globally?
& Giveita compemwe ed
B Give it o competi
C increase

rketing success
impact whatsoever

R R NE W

Which of the fo%
term ‘currency €

A Valveg
1o anot
L B Guanis
o count
L€ inflotio
L D Valued
The process of
Gibraltar and 1
European Union:
oA ESWGH
B lexit
W€ orexit
L D Brexit

What is importi
L A Seliing
busines
3 B Buying
busines
4 € Buying
based
LD Saliing
based

Which one of 1

exporting?

W A Selling
based

4 B Buying
baosed

W C Buqu

L

decrease in UK

A Weok
I B Sirong
W € Hight
O D Highu
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1. What does employment law specifically
deal with?
[ A Sofety in food stondards
3 B Company formation
3 € lLegol relationships and obligations that
arise between employers and employees
L D British exit from the European Union

2. On April Fool's Day 1999, which of the following
was first introduced in the UK?
L} A Sofety ot work protection
3 B Food standards protection
L € Limited Habillty protection
L B Hational Minimum W

vears of age are
on pertaining to which

3 B Health and sofety ot work
L € National Living Wage
D Humon rights

4. What does the Equality Act 2010 give legal
protection againsi?
L3 A Al forms of discrimination
LI B Rocial discriminotion only
3 € False advertising cloims
3 D Unscrupulous sellers

5. When an employer is always fully compliont with
all current employment legisiation, what can this
aveid?

L A Cost of implementation

3 B Prosecution and fingncial penalties

L € Time involved in implementation checks
LI D None of the above

6. What is the primary purpose of the Heaolth and

Safety at Work Act 15748

L A Health, safety and welfare of only o
business’s board of directors and no one
else

L B Health, safety and welfare of onl
to o business’s premises

4 € Health, safety and welf
business’s e

3 B Heglth,

vigitoar

: re of anyone in
5 with o business

8. Trading standa

Q.  The prime pur

and retain stoft
good record on
L A Prompti
L B Provis
4 € Provis
(L D PFrovs

1o enforce the
following?

4 A Trade
W B Heolh g
W € Equolity
4 D Noneoy

protect peopl

3 A Heal
»

L A Costi
d B legal
¢ implems
Wl B Time coé
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3.2.6 — Competitive environment

. What is the generic name given 1o any place 6. Which of the fo!
where buyers ond sellers maet to undertake public sector ma
commercial ransactions? 3 A Nationg
L A Siock exchange such &
LI B Morket L B Institun
W € Supermorket military
L D Enterprise L € Theya

authori

2. Which one of the following best defines o W D They orn

target market?
L A Lorge mass of people who will buy a

Which of the foé‘
business’s product or service !

business risk®

L B Worldwide global market L A MNotthe
L € Specific customer groupd L B Cuicom

buyers of a busine CHST service M € Curcom
L D Specific g ng identified as W D Noneol

otential buyers

B.  ‘Whaot might a
hess compelition said to toke ploce? forward planni
L A When thers is no demand for o product LI A Risk

or service 2 B Uncert
4 B When there is only one supplier of « L € Sales
product or service LB Profit
L € When two or more businesses compete
for the same customer groups 9. Which one of thy
4 B When two or more businesses compete uncertainty?® :
for different customer groups 1 A Canbe:
B Cannoty
4.  Which one of the following statements is 4 € bdot the
not correci? L D MNoneo
LI A Business competition never has an impact ;
on o business 10. In the world of
[ B Business competiiion con be of benefii 1o money is one re
customers L A Assured
[d € Business competition can have a negative 4 B Aggug'ec§
impact on o business b c En*ﬁ'e’-:prE
3 B Business competition con have o positive d D Entrepr

impoact on o business

5. When a business has absolutely ne competitors
whatsosver, what is said 1o exist?

A True competition

B True monopoly

€ Good environment for the buyer

B Very risky environment for that

business

oo

COPYRIGHT
PROTECTED

Multiple-Choice Question Bank for GCSE {9-1} AQA Business Fage 52 of 87




3.3.1 ~ Production processes

1. Whaot do the input process, the transformation 6. Which one of i‘
procass and the output process result in@ with mass prog
L A Provision of services only L1 A High
LI B Provision of both goods and services LI B High
L € Tongible physical produciion of goods LI € iitle

3 D None of the above 3 D None

2. Which of the foliowing best describes
‘productivity’?

3 A Extent ro which an individua

unit contributes 1o ot

G CONVEYor
in%

L
U
production output
L D Bdent of production output 8.
produced using
3. What are cell production, just-in-time stock L A Averag
procurement and the philosophy of Kaizen all B MK
exomples of? 4 € Rolex$
I A Mass production 3 D Flectric
3 B lusi-in-case stock procurement
2 € Leon production techniques Q.
3 D Stock control techniques

4. Which ane of the following is an example of job
production?
L3 A Boking loaves of braad
L B Building socinl housing
L € Building o luxury yacht 10,
3 D Production of fumily cors

5. Which of the following is flow production?

A The baking of o unique wedding cake

8 The building of a bricige over « river

€ Unigue, one-off, handmade Christmas
cards

D Mass, or assembly line, production of
identical standardised items

O Coo

L
L
C3

B None ¢
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3.3.2 =~ The role of procurement

1. What is the process of o business buying stock
known as?
3 A Stock procurement
4 B Siock control
L € Stockiaking
4 B Stock deterioration

2. 'Which one of the following is the action of

ensuring that o business always has sufficient
stock to fulfil customer orders?
A Stock maximisation
4 B Stock management
€ Siock procuremsant
L B Stock minimisotion

3. Ensuring that no stock | ¥ stored is
the prime he following?
LA O} stock management
[ ] -time (JOT) stock management

L € ¥¥in-time (JT) stock monagement
2 B Just-in-case {JIQ) stock monagement

4.  Traditional jusi-in-case stock control is o sysiem
of stock management, Which of the following is
an alternative to this system?

L} A Just-intime stock control
L4 B Buffer stocking

€ Stock procurement

[ D Continuous stocktaking

5.  Which one of the following can be regarded as
sufety net stock?
LI A Unsold stock
L B Maximum stock
L € Buffer stock
3 B Average stock

4. Maximum stockholding ceiling should not be
exceeded when using which of these methods of
stock control®
L A Just-in-time
L B lust-in-case
L € Stock buffering
4 B lLead-time

7. Price, quality and reliability should always be
guaranteed most particularly by which
business stakeholders?
d A Government
L B Customers.

8. A fine baloncing act might best describe the
relationship between business suppliers and
which one of the following?

L A Equolity Act 2010

LI B Health and Sofaty of Work Act 1974
L € National government

LI B Their pricing policy

11.

12.

13.

14.

. Logistics is be

A business sup
following?
LA Anum

L3
b€ Anum
L3

following?

L A Howa
Rrocur

(I B Howa
its stoc

L € Howag
execut
stock

B D Howa
execut

A business mus
more frequent
of the followin
L2 A Just-in
L B Just-in
L € Tradi
L D MNone

Which one of
are the benefi
just-in-time sto
associoted wit

I A Techno
i B Morke
L € Mana
I D Nonec

absolutely assé
stock procuram

oA JC
O BT
d € Bargo

3 D None ¢

When choosing§
which of the fol
seriously consig

I WY
T nwme
A
o
.5’

o
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3.3.3 = The concept of quality

1. Which one of the following statements is true?

L A Quality is defined by the extent to which
sellers’ expactations are mef

3 B Qudlity is defined by the extent to which
users’ expectations are met

L € Quality is defined by o quality
accreditation certificate

LB Quality is defined by saliing price

2. What is ISO 90002
L A International acoreditation standard for
quality assurance
3 B international accreditation stand
customer service assurans
€ International sto :

theéte statements about customer

RS true?

LI A Customer expectations do not axist

L B Customer expectations are very easily
satisfied

3 € Customer expectations are not
universally definable

L D Customer expactations are universally
definable

4. Inthe effort to maintain product quality, which

one of the following statements is not true?

L4 A Benchmarking cannot be used to help
maintain good product quality

LI B Benchmarking con sometimes be used to
maintain product qualily

[ € Good-quality products might encourage
repeat purchases

LI B Ongoing inspections might improve
product quality

5. ‘i the smaoll sample baich of the total final
production fails the quality check, the whole
production batch foils.” Which of the following is
this defining?

A Flow production

B Productivity check

Sample batch quality checking

continuous inspection ;

Sample batch o

0 odd
03

é.
checking by stage inspections’ is
not truag
A It can build quality into the production
REOCess

LI B i doss not build quality into the
production process

it is not as time-consuming as o somple
batch inspection of final production
None of the above

£
o

L
o

7. What is the u
managemen

10, Which of the
‘guality circ

1. When consid

L A Ensur
busin

LI B impro
L4 € Onby
prod
LD Zero
and

wWest

L2 A Rand
busin

busin

3 B Rond
busin

comp

i € Syste
a bus

its co

L D Syste
a bus

othet

9. Which one of
guality maong
L3 A Statis
L3 B Profit
LI € Coshf
L D allno

interdepende
of that busine
LA Worl
4 B Consur
b ¢

B b

12. How might o
its reputation
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13. Which one of the following is not a possible
disadvantage 1o o business of attempting fo
maintain or improve the quality of its products or
services?

3 A Sofisfied customers with the potential for
repeat purchases

3 B Preduction fime taken up by additional
training for employees

L € The general disruption caused by off-

0

B Afall i
the-job upskilling of employees produch

B Finoncial expense associated with all
elements of staff training

4. What can the volume ond frequency of repeat
purchases measure for o business? :
L A Quality of the goods or 2
provides :

v services it

IR M W
3

oyes absentesism
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3.3.4 —~ Good customer services

1. Which of the following best defines the sales 7.
processe
4 A The exchonge of cash between buyer
and salier
LI B The conirol of selling environmant
L € The potenticl the sale of a product
0

or service
£ The logical incremental steps that must g,  What might o §
be exscuted in order to effect an establish by e
actual sale enjoyable and;
all customers?
2. What might the display of o positive attitude by oA 5

the seller during the sales process possibly

do? i B
3 A Encourage cna

3 B Discourag : W <
L C il I

O

3. What might the provision of an affersales extent of the
service possibly indicate about o business? ksusiness is no

A Profitability LI A They
LI B Customer care awarenass revie
2 € Reliability of product or service LI 8 They
L D Nons of the above busin
LI € They
4. What might the inability of o business 1o retain imple
its customers be a sign of? L O They
L A Good management of the
L B lLack of competition
4 € Poor customer services 10, What will bec
[ D Good customer services more complex
rapid develo
5. In business, which one of the following is the systems of th
anecdote ‘they will vote with their pennies’ most LI A Effect
fikely to apply t0? ) busin

[ A All stakeholders alike ol
L B Senior munagers
L € Ground-floor employees L C Effect
L B Customers
b

6. Apart from shoddy goods, what other factor
could trigger an increase in customers’
complaints to o business?

A Poor customer service

B Low prices

¢ Poor behaviour
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3.4.1 ~ Organisational structures

1. Whaot must any business have in order to
respond to changes in the dynamic business
environment?

A Sirictly authoritative management
structure
3 B Intransigent workforce

4 € Ability to be able to guickly change its

organisational structure

L D Ability to sack employees without reasy

2. Which of the following could |
reference for employe
in the business :

, factual written and documented

siness siructure

B € Informal and non-texiual business
structure

3 D Producivity report

3. Atall pyramid-like organisational chort would
be the most likely structural diagram for which
one of thess?

A Lorge notionwide supermarket

3 B Troditional cormer grocery shep

L € Two-portner accountancy practice

LI D Fruit ond vegetable market staltholder

4. In a tolf organisotional siructurs, which one of the

following statermnents is nof true?

L A information can pass downwards through
the struciure

3 B Directives are always passed upwards
through the structure

L € They have o pyromid-like organisational
chart structure

4 D They donot have a pyramid-like
organisational chart structure

5. Which one of the following is frue about o flat
organisational structure?

LI A Hos o very steep pyramid-like ¢
L B Hos a multiloyered m
structure &
€ Loy ond o narrow
[ shain of command and o wide

San of contral

6. Which one of i‘
flat orgonisatic
LI A H usual

A Tofg
ane
L B Tofa
thinki
LB € Tofa
stake

L D Toer

Q.
'span of cont
L A Num
busin
L2 B Total
has
doc Lﬂumd COPYRIGHT
as
respo PROTECTED
D Num

10. Which of the

control’?
L A mdo
orga
B2 B Kisu
organi
one
C
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11, When is it particularly essential for an employes
to have an unambiguous job description?
3 A When they are employed by o social
enterprise
LI B When they have no curriculum vitae
L € When employed in o small organisation
[ D When employed in ¢ large organisation

12. Strategic decision-making should be the primary

concern of which of the following?

I A Senior management in o large
orgoniscation

L B Middle monagement in o large
orgarnisation

L € Junior management in a lorge
orgonisation

B Al stokeholder nisaiion

vacture, what is meant by

ving lovers of management fo o
business’s organisational structure
[ B Removing loyers of monagement from o
businass’s organisational structure
€ Reducing o monager’s span of control
LI D Adding to the choin of commond of
a business

14. Which one of

not frue?

L2 A Autho

2 B Autho
but r
at oll

LI € Resp

LI B Resp

15. Burger King,
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3.4.2 - Recruitment and selection of employees

1. Employees play o maojor role in a business. While
staff retention contributes towards the business’s
success, which of the following would most help
ensure the right employees are hired?

L} A Retention and turnover process
L B Troining ond induction process
L € Recruitment ond selection process
4 B lob definition and outline process

2. Who should normally be sent o ‘letter of regret’
by o reputable business?
L3 A Anunsuccessful job opplicant
3 B A successful job applicant
3 € Al prospective job (zpphmni‘s
3 D Al employess

i who assist in
ng o business’s
ollowing is true?
frongest reason for o business
othering to employ people
3 B This is the sirongest reason for o business
bothering to employ people

L3 € This is the strongest reason for a business
embracing technology

LI D Thisis one cause of business failure

3.  Given the fact that it
tactically and steo

4. When intending to fill a new higher-level
management position, the fact that the work ethos
and commitment of an applicant is olready known
is an advantage of which of the following?

LI A Using internal promation to fill the
vacancy

L B Using external promotion 1o fiil the
vacancy

L € Off-the-job training

LI B induction training

5. The fact that it is both time-consuming and costly
is o disedvaniage to o business of using which
one of these?

LI A Proise os o method of stoff motivation
L B On-the-job stoff training

3 € External recrultment to fill a vacancy
3 B interncl recruiment 1o fill o vacancy

6. Which one of these best describes the process of
‘fob analysis™?
4 A Setting out the personal gualities a jo
applicant must have for o specif
Detailing the academic oy

£
o

cigihecific job
e main duties

0 o
(v o'

a‘ﬂon available about every aspect
s porticuiar jobs

What does o ‘fob description’ specifically focus on?

L A A job applicant’s personal qualities and
qualifications

3 B A specific job highlighting details of its
mtin cuties and responsibilities

4 € Al dota and information availoble about
every aspect of a particular job

L} B Nong of the obove

8. The traits anid
specific job are
L A Person
4 B Joban

application pro
A Coreer
:! B Career

10. An employes w,
each waek is ¢
classifications?
4 A Zero-h
W B Cosugd
4 ¢ Full-tim
4 D Port-ti

. Which of the fo

career

12. Which one of 1

fime
I B Theyua

workin
I € Theya
d D Theya

13. The advaniage
employ people
faom which of 1

be had if o bus
the following?

4 A Mondg
4 B Mando
€ lob-sh
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3.4.3 — Motivating employess

T.  Which of the following best describes the word 6. Which of the foi
‘motivation’? sharing payme

[d A The positive force that energises and L A Anemp

drives an individual to behave in a percents

certain way growth

3 B The negotive force that energises and 3 B Anamg
drives an individual to behave in a small p
certain way profits

€ A stare of mind only experienced by L € Anemp
financial reward percen
B A course of action that can never be
achieved

2. A high level of siaff refention i

result from o business hav 3 A Anadd
following? e 4 B Anadd
3 A : ad workforce 0 € Aperk
Ll B wtivared workforce LI B A comw
L C Ssirict disciplinary authorifarion

management 8. ‘Which of the fo
3 B Offering employees only non-financial an employee?

rewards d A Allexp

3. Which ane of the following statements about O € Free lif
money and motivation is mest true? 3 D 10%¢
LI A Only senior management members are

motivated by o monetary incentive ©.  Which of these
LI 8 There is abselutely no relationship apply a perfor

between money and motivation 1 A Teachi
L € Money is the least effective motivator for 3 B Mursing

the majority of employees of a business ¢ Firefig
4 B Money is the most effective motivator for 1 D Allof

the majority of employees of a business

4.  Which one of the following is payment by piece

rate? distinction bet
3 A When pay is indirectly linked to the T} A Plecer
numizer of units o warker produces 3 B Perka

L3 B When pay is directly linked to the number 3 € Salary

of units o worker produces

I € When pay is directly linked to the number
of hours an employes works

L D When pay is directly linked to the number

of units an employee sells

COPYRIGHT
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5. 'The more hours an employes worl
are paid.” What method o
this describe?

3
3
3 ¢ SG¥%ate
0

B Piece rate

given t
D Noneo

0o
3
)
<
[¢]
£
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13, Planning, organising, leading and coordinating
are the four basic funciions of what®
LI A Employment
B8 Monagement
L € Motivators
L D Business

14. An aviocratic management style might do which
of the following?
LI A Siifle o worker’s creativity
L B Stfle o worker’s confidence
3 € Stifle o worker’s sense of being a valved
member of an organisation
W All of the above

15, Which of the fo
empowerment

L4 A Employ
their w

I B Employ
work

€ Ahigh
D Ahigh
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3.4.4 —~ Training

1. Which one of the following would good 7. Which one of T
employee training most likely result in? jokr training?
[ A& A reduction in the level of an employee’s L A Btis not

produciivity LB i usual
I B A mass exodus of employess from o
business 3 <
L € A business being less able to cope with
competitors
4 B A business being able to quickly respond 0
to unexpected changes in demand

2. What might be o negative impeact on o business
of the introduction of an ongoing traini
for all employees?

3 A Difficuty in getti

do so L€ Off
L3 B g sibyee motivation L B Ont
b < by Wwith staff recrultment and
an as it might be considerad « @?.  Which one of
draconian measure business of fo
2 B The action would not have any negative L A Itis nos
impact :
I B
3. Whaot group of employees does induction
training specifically tfargei?
4 A Skilled employees ¢
3 B Unskilled employees
4 € New employees L4 B None

LI B Existing employees
10. Which of thes

4. In-house fraining is another name for which one employer of
of these? participate in
L A On-the-job fraining L4 A Thee
3 B Off-the-job training
L € Cosual training
LI D Qutsourced training LI B

5. Which of the following jobs would extensive on- Lt C
the-job training be most suitable for?
LA Nursing
L 8 Corpentry )

L € Teaching
L D Psychology

. Which of thes COPYRIGHT
new empi?yef PROTECTED

6. Which ane of the following statemenis is
on-the job training? :
L A itis considerad 1
axpensi :

L B
L 8 nsidered to be the most financially -
nsive way of training for the U C
business employ
L € B is also known as formal training WD Allofn

3 B B can never cause disruption in the
workplace
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3.5.1 ~ ldentifying and understanding customers

1. What is the prime aim of the morketing process?
4 A To ensure that production is efficient
3 B Toreduce the rote of stoff turnover
4 € Toeffectively identify customer needs
and wants
3 B To effectively source raw materials

2. Which one of these would be o consumer need
as opposed o o consumer want?
2 A Food
LI B Daesigner clothing
L € Luxury mans

& following statements is

4 A Consumer wants may be desirable but
not essential
LI B Al people hove bosic consumer needs
3 € Consumer wanis are limitless in scope
L D Consumer wants are very limited
in scope

4.

A

w

0]
(9]

oA
4 B
I
WG D

Whish of the f&
marketing?

In order 1o put
marketing mix
business identi

o2

S-eii‘:’nr;,gg

wants
The skig
irs abii%
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3.5.2 - Segmentation

. What is the purpose of market segmentation? 7. Assit-on lownmg
L A Toidentify and target a potential segment its mes
specific customer grouping in o demographicsé

mass market A Age

LI B Toidentify ond target o potenticl B income
mass market 4 € Gende

L € To'geor up' production to an WD Locot
appropriate lavel
4 B Tocorry out market research 8. What type of
is the seller of
2.  Adeguate revenue income for business must be likely 1o use?
copable of being sustained initiolly by what?
LI A Loons from a bank
LI B Bs potential mass mark
L € Lack of competite

2 B bstarget

3. What

iness most hope that ifs initial
market fent will not do in the future? 1o get from un
L A Have more competitors L A M-com
L B Remain constant 2 B E-com
3 € Decreass L € Deseg
L D increase 4 D Segm
4. On what s market gender segmeniation boased? 10, Which stateme
L A Year of birth segmeniation?
LI B Being male or female WA It doe
L € Solary or wage demog
[ D Postcode L B Irwill
furnoy
5. The market for which of these is most likely not to L € ltdoe
be segmented by gender? aware
[ A Vegetables D licon
LI B Clothes the bu
LI € Shoes
LI B Toys

4. What does the age segmentalion demographic
recognise?

A People’s income can chonge

B People’s product usage remains constant
€ People’s neads and wants change over

time

B People’s needs and wants never chan
with time

0 odd
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3.5.3 — The purpose and methods of market resecarch

1. Which of the following best describes market
research?

4 A Random collection and analysis of
information collected from the general
public

B Systematic collection ond onalysis of data
cotlectad from the general public

¢ Collection of information collected from
the general public

B Analysis of dota collected from the
general public

2. How might a business gain o mmpeis?wa
advantage over its rivals?
3 A Employing mare v g
thon rivals

L B Charging o
L éctive morket research
L g O cost-cutting exercise

3. What is quantitative market research?

3 A The systematic and structured gaothering
of statistical facrs and figures

LI B The systematic gathering of irrelevant
opinions

3 € The randem gothering of spurious
opinions

3 D The random gaothering of spurious focis

4.  Which of the following is frue about secondary
market resaarch daio?
LI A b is the same as primary market research
B b is qualitative market research data
L € i is quantitative market research data
L} B i originates from field research data

5. Which one of the following is on advantage of
using primary market research?
L A I con be time-consuming
L B itis relatively expensive to undertake
3 € ¥t con collect new, updated and relevant
information
L D Bs results are not always totally reliohle

4. When designing o questionnaire, what must o
question abways be?
3 A Unambiguous
2 B Ambiguous
L € Open-e

L

What m¥ good questionnaire abways have?
2 A Elecironic input

L B Logical design structure

L} € Predetermined oulcome

L B Nong of the above

8. Focous group fe

of these?

W A Arand
popula

W B Aninte
Group

L€ A struct
obsary
groupi

L4 D Anong
randon

Which one of 1
corrying out int
4 A Oniyp

W
e

=

o

~%
Q

i

£l
fv)
=
a
(o]
D

10. By whaot is seco

known?

L A Tobler
M B Bookr
€ Primar
W D Deskre

11. The fact that it
considered a 4

following?
4 A Fieldr

technology aff
A Madei
4 B

o C

source for seco
A The W

"

Wl B The puk
WC s marky
- A

D s compy
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14. What is usually made maere interesting and 19. Which of the fo
uynderstondable when presented in the form of

charts, graphs and tables? i A The tot
L A information ralative
LI B Dota I B Theinc
L € Advertising slogans specific
3 D T troining progrommes W € The de
over o §
15, Which one of the following is cireular in shope? W D The perg
A Scotter graph footfall;
B Pie chort
€ Line graph 20. Which one of thy
B Bar chor percentoge?
A Market:

A To word-process
B To predic

L3
L
3
3
16, What is the basic funclion of o spread
0
L
J
3

21. Which one of t

17. What cd¥%e defined as ‘the total number of present
potential buyers in o market'? .
4 A rMarketsize
4 B Market share W€ Linegr
4 € Market niche
D Maorket segmentation -

18. Which one of the following best defines the term

‘market share’?

3 A Totol number of possible buyers in o
market

[ B Percentoge of the total market a business
fails to copture

L € Percentage of the total market o business

L

gets relative 1o its competitors
B None of the above

COPYRIGHT
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3.5.4 — The elements of the marketing mix: price, pmduc&%

I.  In marketing, whot are the ‘“4Ps’ also known as?
L A Promotion mix
L B Product life cycle
L € Product mix
L D Marketing mix

2. Whaot does a competitive pricing
policy specifically reguire o business to do?
4 A Mot ke concerned about what iis
competifors are charging
Be aware of what iis competitors are
charging for the same product or servi
Always change their pricing polic
Mone of the above

L 8

ts at or below cost in

1o atiract customers into a shop

3 Ny certain products af or below cost
in order o ottract customers into o shop

L € Seling all products at or above cost in

3

order to atiract customers into o shop
D Selling some producis af or above cost in
order 1o affract customers info o shop

4.  Which one of the following is most associated
with o cest-plus pricing policy?
A A Eosy to understand, colculate and
implement
B Exiremely difficult 1o understand and
caleulate, and impossible to implement
Easy to understand but difficult o
calculate and implement
B Eosy to understand and implement but
very difficult to calculate

LA
LI <
L

5. Which of the following is net an external factor
that can influence the pricing decisions o
business makes?

L A Government directives
B VYolatiity of the morket

L € Maorketing mix strategy

LI D Level of market competition

6. Which ane of the following best defin
law of demand?

L A Asthe sellin ‘
goods d buyer foils

vrice rases, the quantity of
deémanded by the buyer fails

i seihng price rises, the guantity of
qoods demanded by the buyer rises

B As the selling price falls, the quantity of
goods demanded by the buyer rises

L
b <
L

7.

From where shos

Which of the fo%

maturity stog

d A Coshea
d B Golden
4 € Dog
1 D Noneot
Which of these &
strategy? :
L A Updat
J B Extens
ld € Extens
= D Adding:
. What is the fumé;
L A Tohslp:
base
B Tohelp:
policy &
L € Tohelp:
por’rfolié
9D ;z;‘;’;; COPYRIGHT
PROTECTED

What might o §
increqse ifs sa

o

(
E!
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13. Which one of the following best defines ¢ 20. What does the

business’s ‘promotional mix’? bast signify?
LI A Different production strategies it uses fo L
reduce the cost of production
L} B Different pricing strotegies it uses to L
attract customers
L € Diffarent types of procurement methods it b
uses to support its marketing objectives
L D Different types of communication methods L

it uses to support its marketing objectives
21, How might the
14, Which one of the following is not regarded as product impac
port of the advertising media? L A Possibhy
4 A Socdial media platforms T B Possibly
[ B Special offers € Possibly
LI € Cinema it rath
LD World Wide W 4 D Allof

which one of the 22. How important

followi; appropriate o
promot get its product
L A Specrci:s? trace maguazines 3 A Extrem
1 B Buy-cne-get-one-free offers J B Onlyc
[ € Point-of-sale displays 4 € Onlya
L D Free entry to o competition and fr
L D Onlya
16, What does the ‘place’ element of the markesting custom
mix ensure about o business’s product or service?
3 A Thatitis the right product mix for its 23. What is the bi
farget market develaping o
L B Thot it is available in the right price, ot WA I will
the right time and of the right quality marke
3 € Thotitis ovoilable in the right location, at 4 B Comp
the right time and in the right quantity cheap
L D Thot it is available in the right locenion, at L€ lisselli
the right time and of the right quadity high to
W D Alof
17. Indirect selling is also known as which of these? 5
L A Unsecured selling 24. There are four ¢
L} B User-friendly selling Which of the fo
L € Short-channel distribution wl A Problen
L D Long-channel distribution W B Stars
€ Stogs

18. Which ane of the following statements is nof true (d D CoshC
about short-channel distribaution?
LA itis o form of direct selling
L B itisnot o form of divect seiimﬁ

L € Itis not o faster form

L

23, Which of the f

COPYRIGHT
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distribution L B Highr

growtl

W € Highn

, growth
19. Which o5t the following is not essential for the 4 D Noneoy
successtul undertaking of o commerdial fransaction f

using the Internet? 26. A computer sy

L A Eleciric power source drawback 1o w
LI B Connection to the World Wide Web activities? E
L € Telephone A Using e
L D Account with a financial institution W B Using Bg
€ Using ps
B Using py
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27. Which one of the following uses o specific web
domain to connect with customers?
L A E-commerce
I B M-commerce
L € Digital marketing
3 D None of the above

28. Which of the foliowing allows goods and servicas
to be offered for sale 24/7 in a worldwide
window?

[ A E-commerce and m-commerce
LI B Contactless payment systems
L € Credit cards

L B Debit cords

29. Which of the following would
independent market-stall i
employ when

ount offer

L
-
L
L

Buy one and get the second for half price

3l

32.

L A Hoard
L B Troade
€ Produ

marketing mix
WA It cann
W B It evol
€ The el
Ll D The el

oo

R
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3.6.1 ~ Sources of finance

1. Which one of the following is not an external
source of finance for o business?
I A& Bankloan
I B Bank overdrof
I € Sale of business ussets
3 B Mortgage

2. The fact that newly established, smali-to-medium-
sized businesses lack the credibility needed with
lending institutions to get a loan is one ofith
main reasons for which one ¢
courses of action?
b A 3¢

W Gative cash flow

il sourcing of finance

xternat scurcing of finance

3. Which of the following is not o long-term external
source of finance for a profitable fong-
established business?

3 A Retoined profis
3 B Mmortgage

W € Leasing

L B None of the above

4. Which ane of the following categeories would o
bank overdraft fall into?
L A Long-term internal
L B Short-term internal
L € Long-term external
3 D Short-term external

5. A business plan would be particularly helpful fo
a business under which one of the following
circumstances?

L3 A Internal sourcing of finance
3 B External sourcing of finance
L € Recruiting new staff

LI D Retaining existing staff

6. What are the historic undisiributed profiis o

business also known s?
J A Retained profits
B Restrained p

oo

7. ‘Business fixed

9. Asaresult of

statements is t
4 A Fixed

W B A busi
fixed
L1 € Thisis
fixed

L
=)
™
>
=1

L
o
: >
=}
3

O D A high

lending terms
the foliowing i
4 A Bonks

loans

(]
=
fe )
o
=
&

than it gives oni
make?

W A A profi
L B Aloss i
W € Htbre

W D Noneog

11. Which one of H*A
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12, When does awnership of on asset bought by o 14. Which one of 1
business on hire purchase actually transfer to the sole trader’s o
business? L4 A lrcon
L A Never trade
LI B From doy ong of the purchase L B ltcon
L3 € After the final instalment payment share

is made '
LI B Onrequest of the business

13, If o business acquires an asset by leasing, which
of the following is true?
A B gels immedicie ownership of the asset 15,
LI B i gets ownership of the asset after :
one yaar
L € it gets ownership of the asset on
.

the final leasing paymenid
It never gets ows

"
0}
.
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3:6.4 = ﬁﬁﬁh ﬁ@w

1. Which of the following is the best definition of

‘rash flow'?

4 A The movement of acival money, into and
out from o business, over o specific
period of time

3 B The movement of actual money, into and
out from o businass, on o specific date

3 € The profit made by o business over o
specific period of time

B The profit made by o business on a
specific date

2. Which of the following statements abou
flow forecast is true?

L A A cosh flow fore

financial st
i

&

. flow forecost is not a profit and
toss statement

D Al of the above

3. What impact might excessive stockbolding, o
large debt going bad or having 1o moke ¢ large
unexpected and unplanned payment have on o
business?

A Couse it to make an unrecoverable loss

LI B Couse it to close down

4 € Cause it to experience a cash flow
problem

L B Nong of the above

4. Which one of the following is the most likely

reason for o business permaneantly ceasing

to frade?

LI A Having an occasional cash flow problem

LI B Hoving persistent and severe cash flow
problems

3 € Consistently having a positive cash flow

L B Owcosionally making a vary small frading
foss

5. How might the implementation of o computerised
just-in-time (i) stock requisitioning strategy
contribule to o positive cash flow situation:
o business?

3 A By preveniing
3 B Bysettingn

it stocks only top-quality stock
Tnsuring the irregular supply of stock

4. How might offering spaciol discounts 1o debtors
in return for quick payment impact o business’s

cash flow?

L A Would improve profiis
L B Notatall

€ Positively

L B Negaotively

cast is for o specific fixed

. Which of the fo

. Persistent nega

What is meant &
W A A busing
A busing
debtors
€ A busing
B A busin

special

oo od
B

How might age
with its creditor

L A Byincre
(d B Byeasi
have
€ Byred
B By mini

{4 A By help
4 B Byhelp
€ By susic
(4 D By susie

A good image
the iikely result
which of these?
WA lowtur
4 B Highra
4 € Positive
L D Negati

‘negative cush
& Annuol
Annual

R W W
w

£
o
z
)
)

which of these? |
Ll A Business
1 B Business

years :
€ Business
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14. Consider Table 1 ~ cash flow forecast and choose
the correct closing balance for December 2020,

LI A £66,000
LI 8 £24,000
L € £18,000

L B £12,000

15, Which of the foliowing stotements is not frus?

d A Thereis no clear distinction beiween cash

flow and profir

L B A business with o negative cash flow
cannot make o profit

3 € A business with o positive cash flow
cannot make o loss

L B Al of the above

Table 1 ~ cash flow forecost

16. Inorder 1o be
shorifalls, wha
business consir

L A Statem .
L B Coshfi
L € incomed

M D Noneo z‘

Cash flow forecast for 3 months ending December

Qctober | November | Deceiy
£ £
Opening balance 4,000 - {608
Cash incomes 30,000 18,000 48,
Total cash inflow 36,000 30,000 472 G
Cash outflows 24,000 36,000 24,
Closing balance oo —mnn
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3.6.3 ~ Financial terms and calculations

1. Which one of the following statements about the

unit value of a variable cost is not frue?

3 A& its volue con change within an accounting
period

LI B Hs volue never chonges within on
accounting pericd

L € s used in the colculation of total costs

L3 B lts costis recovered in the selling price of
the product

2. Consider Figure 1 —total varioble cost graph.
Which one of the following is the best reason fo
explaining why the total variable cost ki
upwards from left 1o right?
3 A The more units p

& are no unifs produced, no costs
are incurred
LI D Wis purely o well-established convention

3. Which one of the following statements about
fixed costs is not true?
3 A They are direct costs
L B They are not indirect costs
L € They can change in value
LI D They are not period costs

4. Consider Figure 2 — total cost graph. Why does

the total cost line start from where it does?

L A Because no fixed costs are incurred i no
units are produced

I 8 Because all costs must be coverad before
production can start

L1 € Because fixed costs are incurred even
when there is no production

A D Because variable costs are incurred even
if there are no units produced

5. Which one of the following is another name
for sales?
3 A Profit
L B Turnover
L € Overheods
L B Nong of the above

6. Which one of th efines the

s of current assets over current

L B8 The excess of u business’s cash income
over cash expenditure for a given period

L € The excess of o business's sales revenue
over expenditure for a given period

L D None of the above

7.  What is the forg
appraisal fech
of return’? :

the ARR criteri

A 2%
L B 4%
€ 6%
W D 8%
Q.  What is break
Ll A Thenu
produy
i B Thenu
produ
produ
il € Thenu
produ
varia
L D Thenu

10. Which one of
A Thenu

4 B Thenu

Questions 11—-19 o
chart.

11. What is the cor
L A Total
M B Total
i € Fixed
L D Vorig

12. What is the con
A Maorg
W B Total
4 € Vorig
LD Towdl
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13, What is the name given o the point of
intersection of line A and line B?
LI A Morgin of sofery
L B8 Optimum production
L € Breok-even point
L3 B None of the above

14. At the point of infersection of line A and line B,
which one of the following statements is true?
3 A Totol revenve equals total cost
L B Total revenve is greater than total cost
L € Total revenue is less thon total cost
L D The margin of safety is reached

15, Which of the following would not be |
the calculation of line C2 ;
X A Rem
L B Rates

hat is the maost correct label for line D?
A Cost
B Cost (£}
< Variable cost
D Total cost

goodds oo

17,

18.

20.

. Which of the fc;%

What does the \

s

LA Profit
3 B Loss :
W € Variab

4 D Margin

if alf costs rema
but total sales r
wohat will hap

WA hwilln
B #wills
WM € hwills
D hrwillb

margin of safery

M A lhasa
Ll B hhasa
L €t never:

i D ltconc

Which one of #
breck-even an
4 A Hconb

o pooo
=
:
o
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Figure 1 — total varioble cost groph

Toral variable cost line

Cost (£}

2o,

0 Units of output

Figure 2 — iotal cost groph

&
) .
e Total cost line
%
o]
(&
Fixed cost line
& Units of oulput

Figure 3 — break-even chart

Line A

line B ‘

line D

¥ Line C

o o oo o o

Line E

0 Units of oulput p

B,
B
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PROTECTED
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3.6.4 — Analysing the finoncial performance of a business E

1. A business’s finuncial health and performance can
be judged by reference to which of these?
4 A Asset statements
4 B Profif stutemenis
4 € Competitors
4 B Finoncial statements

2. A business’s income and expenses over o specific

period of time are shown in which one of the
following?

L A Cosh flow stotement
L B Income statement

L € Bolunce shest

LI D Statement of financial

3. The openi
alwory s
previ
be the
L A When stock deterioration has occurred
L B When stocktaking has occurred
L € When stock control has occurred
L D Itis always the case

fting period is
W tlosing stock of the
g period. When might this not

4.  Which one of the following stotements best
explains the meaning of the term ‘gross profit
margin'?

L4 A For every £100 of sales, a gross profit of

£20 was made

B For every £100 of sales, o profit of £20

was made

3 € Forevary £100 of sales, a marginal

profit of £20 was made

L B Forevery £100 of purchases, a profit of

£20 was made

£

5. If on £100,000 of sales o business makes a gross
profit of £30,000 and o net profit of £10,000,
what is its net profit morging

L A 40%
U B 30%
L < 20%
LI B 10%

6. Which one of these is o snapshot of a b
assets and labilities ot o specifizn.
L A Income statement

[
(] HEtast
[ nd loss account

7. Which cne of the following is an item that o
business swns outright or has control over?

[0 A Liobility
I B Asset
L € Profir
X B Loss

8. Which one of t

ussel?
4 A Land on
4 B Closing
€ Trade g
W D Coshon
9. How is a debtos.
4 A long-te:
B Current

I € Current
Ll B Fixed

10. Which one of t

A W

11. Which one of thy

bability? ;
A Creditos
d B Debtors
W€ Mortgay
D Tradep

12. Which one of t :
as o current lia

14, To what is refo
financial positi
total equity on
A Working
4 B Fixed
d € Current;
D Shore o
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15. Adequate working capital is essential, but
particularty for which ons of the following?

L3
L
L
L

16, 'This business shows o consistently high net profit in

A A business’s long-term surviveal

B A business’s day-to-day operations

{ For o business to make o profit

D To atiract more stakeholders 1o o business

its income statements.” What does this statement
indicaie?

L

L
.
4

A The business always has a positive
cash flow

B The business always has a negative
cash flow

€ The business is not o good inves!

8 The business is pofentiall

investment '

17. Which stakeho
regard o com

m o
W B Debtore
L € Credito
L D Employs
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